
PAPER – 5: ADVANCED ACCOUNTING 

PART – I: ANNOUNCEMENTS STATING APPLICABILITY & NON-APPLICABILITY  
FOR NOVEMBER, 2015 EXAMINATION 

A.  Applicable for November, 15 Examination
(i) Paragraphs 46 for entities other than Companies 
  In line with para 46 inserted by the MCA for corporate entities, the Council of the 

ICAI has also inserted Paragraph 46 in AS 11 for entities other than Companies in 
the month of February, 2014: 

 46(1) In respect of accounting periods commencing on or after 7th December, 2006 
(such option to be irrevocable and to be applied to all such foreign currency 
monetary items), the exchange differences arising on reporting of long-term foreign 
currency monetary items at rates different from those at which they were initially 
recorded during the period, or reported in previous financial statements, in so far as 
they relate to the acquisition of a depreciable capital asset, can be added to or 
deducted from the cost of the asset and should be depreciated over the balance life 
of the asset, and in other cases, can be accumulated in a “Foreign Currency 
Monetary Item Translation Difference Account” in the enterprise’s financial 
statements and amortized over the balance period of such long-term asset or 
liability, by recognition as income or expense in each of such periods, with the 
exception of exchange differences dealt with in accordance with the provisions of 
paragraph 15.  
(2) To exercise the option referred to in sub-paragraph (1), an asset or liability 
shall be designated as a long-term foreign currency monetary item, if the asset or 
liability is expressed in a foreign currency and has a term of twelve months or more 
at the date of origination of the asset or the liability: 

 Provided that the option exercised by the enterprise should disclose the fact of such 
option and of the amount remaining to be amortized in the financial statements of 
the period in which such option is exercised and in every subsequent period so long 
as any exchange difference remains unamortized.” 

(i i) Companies Act, 2013  
 The relevant Sections of the Companies Act, 2013 notified up to 31st March, 2015 

will be applicable for Nov., 2015 Examination. 
(i i i) Maintenance of Statutory Liquidity Ratio (SLR)  
 As per Notification No. DBOD No.Ret. BC.70/12.02.001/2014-15 dated February 3, 

2015, the SLR of Scheduled Commercial Banks, Local Area Banks and Regional 
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Rural Banks should not be less than 21.5% of its demand and time liabilities with 
effect from the fortnight beginning February 7, 2015. 

(iv)  Maintenance of Cash Reserve Ratio (CRR) 
Reserve Bank of India has decided to reduce the Cash Reserve Ratio (CRR) of 
Scheduled Commercial Banks by 25 basis points from 4.25 per cent to 4.00 per 
cent of their Net Demand and Time Liabilit ies (NDTL) with effect from the 
fortnight beginning February 09, 2013 vide circular DBOD.No.Ret.BC.76/ 
12.01.001/2012-13 dated January 29, 2013.  The Local Area Banks shall also 
maintain CRR at 3.00 per cent of its net demand and time liabilities up to February 
08, 2013 and 4.00 per cent of its net demand and time liabilities from the fortnight 
beginning from February 09, 2013. 

(v) SLR Holdings under Held to Maturity Category 
 In order to further develop the government securities market and enhance liquidity, 

it has been decided to bring down the ceiling on SLR securities under the HTM 
category from 24 per cent of NDTL to 22 per cent* in a graduated manner. 
Accordingly it is advised that: Banks are permitted to exceed the limit of 25 per cent 
of total investments under HTM category provided:   
a. the excess comprises only of SLR securities, and  
b. the total SLR securities held in the HTM category is not more than 23.50 per 

cent with effect from January 10, 2015, 23.0 per cent with effect from April 4, 
2015, 22.5 per cent with effect from July 11, 2015 and 22.0 per cent with effect 
from September 19, 2015, of their DTL as on the last Friday of the second 
preceding fortnight.  

* As per DBOD.No.BP.BC.42/21.04.141/2014-15 dated 7 October, 2014. 
(vi) Revision in date of commencement of commercial operations 
 Circular no. DBOD.No.BP.BC.33/21.04.048/2014-15 dated 14 August, 2014, states 

that: revisions of the date of commencement of commercial operations (DCCO) and 
consequential shift in repayment schedule for equal or shorter duration (including 
the start date and end date of revised repayment schedule) will not be treated as 
restructuring provided that:  
(a) The revised DCCO falls within the period of two years and one year from the 

original DCCO stipulated at the time of financial closure for infrastructure 
projects and non-infrastructure projects respectively; and  

(b) All other terms and conditions of the loan remain unchanged. 
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(vii) Securities and Exchange Board of India (Share Based Employee Benefits) 
Regulations, 2014 

 SEBI vide Circular No. LAD-NRO/GN/2014-15/16/1729 dated 28th October, 2014
has formulated the SEBI (Share Based Employee Benefits) Regulations, 2014 which 
replaces the SEBI (Employees Stock Option Plan) Guidelines, 1999.  The said 
Regulations deal with various provisions relating to employee stock option schemes, 
employee stock purchase schemes, stock appreciation rights schemes, general 
employee benefits schemes and retirement benefit schemes formulated by listed 
companies.  The regulations deal with definition of eligible employees, formation of 
compensation committee, shareholders approvals variation of terms of issue, listing, 
compliances etc.  For the complete text of this notification please refer to the link: 
http://www.sebi.gov.in/cms/sebi_data/attachdocs/1414568485252.pdf 

B. Not applicable for November, 15 examination

 (i) Ind ASs issued by the Ministry of Corporate Affairs 
 These Ind ASs are not applicable for the students appearing in November, 15 

Examination. 
(i i) Financial Reporting of Electricity Companies 
 The topic on “Financial Statements of Electricity Companies” has been excluded 

from the syllabus w.e.f. November, 2015 Examination and onwards. 

PART – II : QUESTIONS AND ANSWERS 
QUESTIONS 

Partnership Accounts 
Dissolution of partnership f irm 
1. P, Q, R and S are sharing profits and losses in the ratio 3 : 3 : 2 : 1.  Frauds committed 

by R during the year were found out and it was decided to dissolve the partnership on 
31st March, 2014 when their Balance Sheet was as under: 

Liabilities Amount (`) Assets Amount (`)
Capitals:  Building 1,90,000 
 P 1,50,000 Stock 1,30,000 
 Q 1,50,000 Investments 50,000 
 R - Debtors 70,000 
 S 60,000 Cash 30,000 
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General reserve 40,000 R 40,000 
Trade creditors 80,000   
Bills payable    30,000   
 5,10,000  5,10,000

Following information is given to you:
(i) A cheque for ` 7,000 received from debtor was not recorded in the books and was 

misappropriated by R.
(ii) Investments costing ` 8,000 were sold by R at ` 11,000 and the funds transferred 

to his personal account.  This sale was omitted from the firm’s books.
(iii) A creditor agreed to take over investments of the book value of ` 9,000 at ` 13,000.  

The rest of the creditors were paid off at a discount of 5%.
(iv) The other assets realized as follows:
 Building 110% of book value
 Stock ` 1,20,000
 Investments The rest of investments were sold at a profit of ` 7,000
 Debtors The rest of the debtors were realized at a discount of 10%
(v) The bills payable were settled at a discount of ` 500.
(vi) The expenses of dissolution amounted to ` 8,000
(vii) It was found out that realization from R’s private assets would only be ` 7,000.
Prepare Realisation Accounts, Cash Account and Partner’s Capital Account. All workings 
should part of your answer.

Sale of Partnership f irm to Company 
2. XYZ & Co. is a partnership firm consisting of Mr. X, Mr. Y and Mr. Z who share profits 

and losses in the ratio of 2:2:1 and ABC Ltd. is a company doing similar business. 
 Following is the summarized Balance Sheet of the firm and that of the company as at 

31.3.2015:

Liabilities XYZ & Co. ABC Ltd. XYZ & Co. ABC Ltd.
` ` ` `

Equity share 
capital: 

Plant & machinery 5,00,000 16,00,000

Equity shares of 
` 10 each 

 20,00,000 Furniture & fixture 50,000 2,25,000

Partners capital: Inventories 2,00,000 8,50,000
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   X 2,00,000 Trade receivables 2,00,000 8,25,000
   Y 3,00,000 Cash at bank 10,000 4,00,000
   Z 1,00,000 Cash in hand 40,000 1,00,000
General reserve 1,00,000 7,00,000   
Trade payables 3,00,000 13,00,000
 10,00,000 40,00,000  10,00,000 40,00,000

It was decided that the firm XYZ & Co. be dissolved and all the assets (except cash in 
hand and cash at bank) and all the liabilities of the firm be taken over by ABC Ltd. by 
issuing 50,000 shares of ` 10 each at a premium of ` 2 per share. 
Partners of XYZ & Co. agreed to divide the shares issued by ABC Ltd. in the profit 
sharing ratio and bring necessary cash for settlement of their capital. 
The trade payables of XYZ & Co. includes ` 1,00,000 payable to ABC Ltd.  An 
unrecorded liability of ` 25,000 of XYZ & Co. must also be taken over by ABC Ltd. 
Prepare: 
(i) Realisation account, Partners’ capital accounts and Cash in hand/Bank account in 

the books of XYZ & Co.
(ii) Pass journal entries in the books of ABC Ltd. for acquisition of XYZ & Co. and draw 

the Balance Sheet after the takeover. 
Conversion of partnership into a Company 
3. P, Q and R are partners sharing profits and losses in the ratio 3 : 2 : 1 after allowing 

interest on capital @ 9% p.a. Their Balance Sheet as at 31st March, 2015 are as follows: 

Liabilities ` Assets `

Capital Accounts:  Plant & Machinery 1,08,000 
 P 50,000  Fixtures 20,000 
 Q 30,000  Stock 50,000 
 R 20,000 1,00,000 Sundry Debtors 30,000 
Reserve Fund 60,000   
Creditors 48,000   
    
 2,08,000  2,08,000 

They applied for conversion of the firm into a Private Limited Company named PQR Pvt. 
Ltd. and the certificate was received on 01-04-2015. They decided to maintain same 
profit sharing ratio and to preserve the priority in regard to repayment of capital as far as 
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possible. For that purpose, they decided to insert a clause of issuance of Preference 
shares in Memorandum of Association in addition to issuance of Equity shares of ` 10 
each. 
On 01-04-2015, the value of goodwill is to be determined on the basis of 2 years' 
purchase of the average profit from the business of the last 5 years. The particulars of 
profits are as under: 

`

Year ended 31.03.2011 Profit 10,000 
Year ended 31.03.2012 Loss 5,000 
Year ended 31.03.2013 Profit 18,000 
Year ended 31.03.2014 Profit 27,000 
Year ended 31.03.2015 Profit 30,000 

The loss for the year ended 31-03-2012 was on account of loss by strike to the extent of   
10,000.
It was agreed that rest of the assets are valued on the basis of the Balance Sheet as at 
31-03-2015 except Plant & Machinery which is valued at ` 1,02,000.
You are required to prepare (a) the Balance Sheet of the Company as at 01-04-2015,  
(b) Partners' Capital Accounts and (c) Statement showing the final settlement between 
the partners taking Q's capital as basis.

Issues related to Accounting in LLPs 
4. Differentiate on ordinary partnership firm with an LLP.  Under what circumstances, an 

LLP may be wound up by the Tribunal? 
Employees Stock Option Plan 
5. On 1st April, 2014, a company offered 100 shares to each of its 400 employees at ` 25 

per share.  The employees are given a month to accept the shares.  The shares issued 
under the plan shall be subject to lock-in to transfer for three years from the grant date 
i.e. 30, April 2014.  The market price of shares of the company on the grant date is ` 30
per share.  Due to post-vesting restrictions on transfer, the fair value of shares issued 
under the plan is estimated at ` 28 per share.
Up to 30th April, 2014, 50% of employees accepted the offer and paid ` 25 per share 
purchased.  Nominal value of each share is ` 10.  Record the issue of shares in the 
books of the company under the aforesaid plan. 
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Redemption of Debentures 

6. The summarised Balance Sheet of ABC Limited, as on 30th June, 2014, stood as follows: 
 Liabilities  ` 

 Share Capital : 8,00,000 equity shares of ` 10 each fully paid 80,00,000 
 General Reserve 1,10,00,000 
 Debenture Redemption Reserve 70,00,000 
 12% Convertible Debentures, 1,50,000 Debentures of ` 100 each 1,50,00,000 
 Other loans 70,00,000 
 Current Liabilities and Provisions 1,80,00,000
   6,60,00,000
 Assets:
 Fixed Assets (at cost less depreciation) 2,50,00,000 
 Debenture Redemption Reserve Investments 60,00,000 
 Cash and bank Balances 80,00,000 
 Other Current Assets 2,70,00,000
   6,60,00,000

The debentures are due for redemption on 30th June, 2014. The terms of issue of 
debentures provided that they were redeemable at a 10% premium and also conferred 
option to the debenture holders to convert 25% of their holding into equity shares at a 
predetermined price of ` 27.50 per share and the balance payment in cash. 
Assuming that: 
(i) except for 80 debenture holders holding totally 50,000 debentures, the rest of them 

exercised the option for maximum conversion. 
(ii) the investments realise ` 70 lakhs on sale; and 
(iii) all the transactions are put through, without any lag, on 30th June, 2014. 
Redraft the balance sheet of the company as on 30th June, 2014 after giving effect to the 
redemption. Show your calculations in respect of the number of equity shares to be 
allotted and the cash payment necessary. 

Buy Back of Securit ies  
7. M Ltd. furnishes the following summarized Balance Sheet as at 31st March, 2015: 

` in ‘000 ` in ‘000 
Equity & Liabilities   
Share Capital:   
Authorized Capital:  10,000 
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Issued and Subscribed Capital :   
6,00,000 Equity shares of ` 10 each fully paid up 6,000 
40,000 9% Preference Shares of 100 each 4,000 10,000
Reserve and Surplus:   
Capital reserve 20 
Revenue reserve 8,000 
Securities premium 1,000 
Profit and Loss account 3,600 12,620 
Non-current liabilities - 10% Debentures  500 
Current liabilities and provisions  380 

23,500 
Assets   
Fixed Assets: Cost 6,000 
Less:  Provision for depreciation 500 5,500 
Non-current investments at cost  10,000 
Current assets, loans and advances (including   
cash and bank balances)  8,000 

23,500 

The company passed a resolution to buy back 10% of its equity capital @ ` 15 per share. 
For this purpose, it sold its investments of ` 60 lakhs for ` 50 lakhs. The company also 
redeemed all preference shares at par on 1st April, 2015. 
You are required to pass necessary Journal entries and prepare the Balance Sheet on 
01.04.2015.

Underwriting of Securities 
8. Shri Ltd. company made a public issue of 10,00,000 equity shares of ` 100 each, ` 60

payable on application. The entire issue was underwritten by four parties: M, N, O, and P 
in the proportion of 35% and 30%, 25% and 10% respectively.  
Under the terms agreed upon, a commission of 3% was payable on the amounts 
underwritten. 
M, N, O, and P also agreed on ‘firm’; underwriting of 30,000, 50,000, 40,000 and 18,500 
shares respectively. 
The total subscriptions, excluding firm underwriting, including marked applications were 
for 8,00,000 shares. Marked applications received were as under : 

© The Institute of Chartered Accountants of India



 PAPER – 5 : ADVANCED ACCOUNTING  9

M:  2,50,000  N:  2,00,000  O: 2,00,000  P: 80,000 
Ascertain the liability of the individual underwriters, when benefit of firm underwriting is 
given to individual underwriters, and also show the journal entries that you would make in 
the books of the company. All workings should form part of your answer.

Internal Reconstruction of a Company 
9. Platinum Limited has decided to reconstruct the Balance Sheet since it has accumulated 

huge losses. The following is the draft Balance Sheet of the company as on  
31st March, 2014 before reconstruction:  

Liabilities  Amount (`) Assets Amount (`)
Share Capital   
50,000 shares of ` 50 Goodwill 22,00,000 
each fully paid up  25,00,000 Land & Building 42,70,000 
1,00,000 shares of ` 50 Machinery 8,50,000
each ` 40 paid up  40,00,000 Computers 5,20,000
Capital Reserve 5,00,000 Inventories 3,20,000
8% Debentures of ` 100 each 4,00,000 Trade receivables 10,90,000
12% Debentures of ` 100 each 6,00,000 Cash at Bank 2,68,000
Trade payables 12,40,000 Profit & Loss Account 7,82,000
Outstanding Expenses   10,60,000
Total 1,03,00,000 Total 1,03,00,000

Following is the interest of Mr. Shiv and Mr. Ganesh in Platinum Limited: 
         Mr. Shiv Mr. Ganesh 
 8% Debentures  3,00,000 1,00,000 
 12% Debentures  4,00,000 2,00,000 
 Total 7,00,000 3,00,000 

The following scheme of internal reconstruction was framed and implemented, as 
approved by the court and concerned parties:  
(1) Uncalled capital is to be called up in full and then all the shares to be converted into 

Equity Shares of ` 40 each.  
(2) The existing shareholders agree to subscribe in cash, fully paid up equity shares of 

40 each for ` 12,50,000.  
(3) Trade payables are given option of either to accept fully paid equity shares of ` 40 

each for the amount due to them or to accept 70% of the amount due to them in 
cash in full settlement of their claim. Trade payables for ` 7,50,000 accept equity 
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shares and rest of them opted for cash towards full and final settlement of their 
claim.  

(4)  Mr. Shiv agrees to cancel debentures amounting to ` 2,00,000 out of total 
debentures due to him and agree to accept 15% Debentures for the balance amount 
due. He also agree to subscribe further 15% Debentures in cash amounting to  
` 1,00,000.  

(5)  Mr. Ganesh agrees to cancel debentures amounting to ` 50,000 out of total 
debentures due to him and agree to accept 15% Debentures for the balance amount 
due.  

(6)  Land & Building to be revalued at ` 51,84,000, Machinery at ` 7,20,000, Computers 
at ` 4,00,000, Inventories at ` 3,50,000 and Trade receivables at 10% less to as 
they are appearing in Balance Sheet as above.  

(7) Outstanding Expenses are fully paid in cash.  
(8) Goodwill and Profit & Loss A/c will be written off and balance, if any, of Capital 

Reduction A/c will be adjusted against Capital Reserve.  
You are required to pass necessary Journal Entries for all the above transactions and 
draft the company's Balance Sheet immediately after the reconstruction. 

Amalgamation of Companies 
10. The following draft Balance Sheets are given as on 31st March, 2014: 

  (` in lakhs)  (` in lakhs) 
  Best  Better  Best  Better 
  Ltd. Ltd.  Ltd. Ltd. 

` ` ` ` 

Share Capital:    Fixed Assets 25 15 
Shares of ` 100, each   Investments 5 – 
fully paid  20 10 Current Assets 20 5 
Reserve and Surplus 10 8 
Other Liabilities 20 2
  50 20  50 20

The following further information is given — 
(a) Better Limited issued bonus shares on 1st April, 2014, in the ratio of one share for 

every two held, out of Reserves and Surplus. 
(b) It was agreed that Best Ltd. will take over the business of Better Ltd., on the basis 

of the latter’s Balance Sheet, the consideration taking the form of allotment of 
shares in Best Ltd. 
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(c) The value of shares in Best Ltd. was considered to be ` 150 and the shares in 
Better Ltd. were valued at ` 100 after the issue of the bonus shares. The allotment 
of shares is to be made on the basis of these values. 

(d) Liabilities of Better Ltd., included ` 1 lakh due to Best Ltd., for purchases from it, on 
which Best Ltd., made profit of 25% of the cost. The goods of ` 50,000 out of the 
said purchases, remained in stock on the date of the above Balance Sheet. 
Make the closing ledger in the Books of Better Ltd. and the opening journal entries 
in the Books of Best Ltd., and prepare the Balance Sheet as at 1st April, 2014 after 
the takeover. 

Liquidation of Company 
11. Raghu Ltd. went into voluntary liquidation on 31st March, 2014 when their Balance Sheet 

read as follows:— 

Liabilities ` 

Issued and subscribed capital : 
2,500 equity shares of `  100 each, `  75 paid 1,87,500
7,500 equity shares of `  100 each, `  60 paid 4,50,000
5,000 6% cumulative preference shares of `  100 each, fully paid 5,00,000
Reserve and Surplus 
Profit & Loss Account (4,10,000) 
Non –Current Liabil it ies 
5% Debentures (secured by a floating charge on all assets) 2,50,000 
Current Liabili t ies
Short term borrowings- Bank overdraft 1,00,000 
Trade payables(unsecured) 2,25,000 
Current Liabili t ies
Interest due on Debentures 12,500 
Taxes due to Government within 12 months 12,500 
Salaries and wages to workers due for 4 months 60,000 

13,87,500
Assets 
Tangible assets 
Land  50,000 
Building 2,00,000 
Machinery and Plant 6,25,000 
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Current assets
Inventories 1,37,500 
Trade receivables 2,75,000 
Cash and cash equivalents 1,00,000 

13,87,500

Other information: 
1. Bank overdraft is secured by deposit of title deed of land and building which realised 

` 3,00,000. 
2. The assets realised as follows : 

Machinery and Plant   ` 5,00,000;
Inventories     ` 1,50,000;
Trade receivables   ` 2,00,000 

3. Preference dividends were in arrears for 2 years. 
4. Expenses of liquidation amounted to ` 57,250. 
5. The liquidator is entitled to a commission of 5% on all assets realised except cash 

and 1% on the amount distributed to Trade payables. 
6. Liquidator realised all assets on the above date and discharged his obligation on the 

same date.  
Prepare liquidator’s Statement of Account. 

Financial Statements of Insurance Companies 
12. From the following balances extracted from the books of Gemini Insurance Company 

Limited as on 31.3.2014 you are required to prepare Revenue Accounts in respect of Fire 
and Marine Insurance business for the year ended 31.3.2014 to and a Profit and Loss 
Account for the same period: 

` `

Directors’ Fees 1,84,000 Interest received 44,000 
Dividend received 2,30,000 Fixed Assets (1.4.2013) 20,00,000 
Provision for Taxation Income-tax paid during  
(as on 1.4. 2013) 1,95,000 the year 1,40,000 

Fire Marine 
` `

Outstanding Claims on 1.4. 2013 63,000 15,000 
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Claims paid 2,30,000 1,84,000 
Reserve for Unexpired Risk on 1.4.2013 4,60,000 3,20,000 
Premiums Received 10,00,000 7,50,000 
Agent’s Commission 92,000 46,000 
Expenses of Management 1,40,000 1,00,000 
Re-insurance Premium (Dr.) 60,000 35,000 

The following additional points are also to be taken into account : 
(a) Depreciation on Fixed Assets to be provided at 5% p.a. 
(b) Interest accrued on investments ` 23,000. 
(c) Closing provision for taxation on 31.3. 2014 to be maintained at ` 2,05,000. 
(d) Claims outstanding on 31.3. 2014 were Fire Insurance ` 23,000; Marine Insurance  

` 34,000. 
(e) Premium outstanding on 31.3.2014 were Fire Insurance ` 70,000; Marine Insurance 

` 45,000. 
(f) Reserve for unexpired risk to be maintained at 50% and 100% of net premiums in 

respect of Fire and Marine Insurance respectively. 
(g) Expenses of management due on 31.3.2014 were ` 20,000 for Fire Insurance and  

` 10,000 in respect of marine Insurance.
Financial Statements of a Banking Company 
13. The following are the figures extracted from the books of TOP Bank Limited as on 

31.3.2014.

`

Interest and discount received 59,29,180 
Interest paid on deposits 32,59,920 
Issued and subscribed capital 16,00,000 
Salaries and allowances 3,20,000 
Directors fee  and allowances 48,000 
Rent and taxes paid 1,44,000 
Postage and telegrams 96,460 
Statutory reserve fund 12,80,000 
Commission, exchange and brokerage 3,04,000 
Rent received 1,04,000 
Profit on sale of investments 3,20,000 
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Depreciation on bank’s properties 48,000 
Statutory expenses 44,000 
Preliminary expenses 40,000 
Auditor’s fee 28,000 

The following further information is given: 
(i) A customer to whom a sum of ` 16 lakhs has been advanced has become insolvent 

and it is expected only 40% can be recovered from his estate. 

(ii) There were also other debts for which a provision of ` 2,10,000 was found 
necessary by the auditors. 

(iii) Rebate on bills discounted on 31.3.2013 was ` 19,000 and on 31.3.2014 was ` 25,000. 

(iv) Preliminary expenses are to be fully written off during the year.  

(v) Provide ` 9,00,000 for Income-tax. 

(vi) Profit and Loss account opening balance was Nil as on 31.3. 2013. 
Prepare the Profit and Loss account of TOP Bank Limited for the year ended 31.3. 2014.  

Departmental Accounts 
14. Department P sells goods to Department S at a profit of 25% on cost and to Department 

Q at a profit of 15% on cost. Department S sells goods to P and Q at a profit of 20% and 
30% on sales respectively. Department Q sells goods to P and S at 20% and 10% profit 
on cost respectively.  

 Departmental Managers are entitled to 10% commission on net profit subject to 
unrealized profit on departmental sales being eliminated. Departmental profits after 
charging Manager's commission, but before adjustment of unrealized profits are as 
below: 

`

Department P 90,000 
Department S 60,000 
Department Q 45,000 
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 Stock lying at different Departments at the end of the year are as below: 

Figures in `
DEPARTMENTS 

P S Q
Transfer from P - 18,000 14,000 
Transfer from S 48,000 - 38,000 
Transfer from Q 12,000 8,000 - 

 Find out correct Departmental Profits after charging Managers' Commission.  
Branch Accounting 
15. Show adjustment Journal entry in the books of Head Office at the end of April, 2014 for 

incorporation of inter-branch transactions assuming that only Head Office maintains 
different branch accounts in its books. 
A.  A.P. Branch: 

(1) Received goods from M.P. – ` 30,000 and ` 25,000 from U.P. 
(2) Sent goods to W.B. – ` 20,000, U.P. – ` 30,000. 
(3) Bill Receivable received – ` 10,000 from W.B. 
(4) Acceptances sent to M.P. – ` 10,000, U.P. – ` 20,000. 

B. M.P. Branch (apart from the above) : 
(5) Received goods from U.P. – ` 20,000, A.P – ` 10,000. 
(6) Cash sent to A.P – ` 20,000, U.P. – ` 10,000. 

C. W.B. Branch (apart from the above) : 
(7) Received goods from U.P. – ` 40,000. 
(8) Acceptances and Cash sent to U.P. – ` 10,000 and ` 15,000 respectively. 

D. U.P. Branch (apart from the above) : 
(9) Paid cash to W.B. – ` 20,000 and M.P. – ` 10,000 

Framework for Preparation and Presentation of Financial Statements 
16. (a) With regard to financial statements name any four. 

(1) Users 
(2) Qualitative characteristics 
(3) Elements 

(b) What are fundamental accounting assumptions? 
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Problems based on Accounting Standards 

AS 4 
17. (a) An earthquake destroyed a major warehouse of PQR Ltd. on 30.4.2014.  The 

accounting year of the company ended on 31.3.2014.  The accounts were approved 
on 30.6.2014.  The loss from earthquake is estimated at ` 25 lakhs.  State with 
reasons, whether the loss due to earthquake is an adjusting or non-adjusting event 
and how the fact of loss is to be disclosed by the company. 

AS 5 
(b) Explain whether the following will constitute a change in accounting policy or not as 

per AS 5. 
(i) Introduction of a formal retirement gratuity scheme by an employer in place of 

ad hoc ex-gratia payments to employees on retirement. 
(ii) Management decided to pay pension to those employees who have retired 

after completing 5 years of service in the organistaion.  Such employees will 
get pension of ` 20,000 per month.  Earlier there was no such scheme of 
pension in the organization? 

AS 11 
18. (a) Assets and liabilities and income and expenditure items in respect of integral foreign 

operations are translated into Indian rupees at the prevailing rate of exchange at the 
end of the year.  The resultant exchange differences in the case of profit, is carried 
to other Liabilities Account and the Loss, if any, is charged to revenue.  Comment. 

AS 12 
(b) White Ltd. A fixed asset is purchased for ` 25 lakhs.  Government grant received 

towards it is ` 10 lakhs.  Residual Value is ` 5 lakhs and useful life is 5 years.  
Assume depreciation on the basis of Straight Line method.  Asset is shown in the 
balance sheet net of grant.  After 1 year, grant becomes refundable to the extent of 
` 6 lakhs due to non compliance with certain conditions. Pass journal entries for 
first two years.

AS 16 
19. (a) G Ltd. began construction of a new building on 1st January, 2014.  It obtained ` 2

lakh special loan to finance the construction of the building on 1st January, 2014 at 
an interest rate of 11%. The company’s other outstanding two non-specific loans 
were:  

Amount Rate of Interest 
` 3,00,000 12% 
` 7,00,000 14% 
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The expenditures that were made on the building project were as follows: 

` 

January 2014 1,60,000 
May 2014 2,70,000 
August 2014 4,20,000 
December 2014 1,50,000 

Building was completed by 31st December, 2014. Following the principles 
prescribed in AS 16 ‘Borrowing Cost,’ calculate the amount of interest to be 
capitalized and pass one Journal Entry for capitalizing the cost and borrowing cost 
in respect of the building. 

AS 19 
 (b) (i)  Distinguish between operating lease and finance lease. 

(ii)  L Private Limited has taken machinery on lease from P Ltd.  The information is 
as under: 
Lease term = 4 years 
Fair value at inception of lease = ` 20,00,000 
Lease rent = ` 6,25,000 p.a. at the end of year 
Guaranteed residual value = ` 1,25,000 
Expected residual value = ` 3,75,000 
Implicit interest rate = 15% 
Discounted rates for 1st year, 2nd year, 3rd year and 4th year are 0.8696, 
0.7561, 0.6575 and 0.5718 respectively. 
Calculate the value of the lease liability as per AS19. 

AS 20 
20. (a) From the information furnished you are required to compute the Basic and Diluted 

EPS (earnings per share) for accounting year 01-04-2014 to 31-03-2015 and 
adjusted EPS for the year 01-04-2013 to 31-03-2014. 

Net profit for year ended 31-03-2014 `  75,50,000 
Net profit for year ended 31-03-2015 `  1,00,25,000 
No. of equity shares as on 01-04-2014  50,00,250 
Bonus issue on 01-01-2015 1 share for every 2 held 
No. of 12% Convertible Debentures of ` 100 each 
issued on 01-01-2015  

1,00,000
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Conversion ratio of Debentures 10 shares per debenture 
Tax rate 30 percent 

AS 26 
(b) AB Ltd. launched a project for producing product X in October, 2013.  The Company 

incurred ` 20 lakhs towards Research and Development expenses upto 31st March, 
2015.  Due to prevailing market conditions, the Management came to conclusion 
that the product cannot be manufactured and sold in the market for the next 10 
years.  The Management hence wants to defer the expenditure write off to future 
years. Advise the Company as per the applicable Accounting Standard. 

SUGGESTED ANSWERS/HINTS 

1.       Realisation Account 

Particulars ` Particulars `

To Building 1,90,000 By Trade creditors  80,000
To Stock 1,30,000 By Bills payable  30,000
To Investment 50,000 By Cash  
To Debtors 70,000       Building 2,09,000 
To Cash-creditors paid  
      (W.N.1) 

63,650       Stock 1,20,000 

To Cash-expenses 8,000       Investments (W.N.2) 40,000 
To Cash-bills payable  
      (30,000-500) 

29,500       Debtors (W.N. 3)    56,700 4,25,700

To Partners’ Capital A/cs By R -Debtors-unrecorded  7,000
 P 4,183 By R- Investments-  11,000
 Q 4,183       unrecorded  
 R 2,789   
 S 1,395   12,550    
 5,53,700   5,53,700
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Cash Account

Particulars Amount Particulars Amount
` `

To Balance b/d 30,000 By Realisation-creditors 
paid

63,650

To Realisation – assets realised  By Realisation-bills payable 29,500
     Building   2,09,000 By Realisation-expenses 8,000
     Stock       1,20,000 By Capital account 
     Investments     40,000  P 1,51,132
     Debtors      56,700 4,25,700  Q 1,51,132
To R’s capital A/c     7,000  S   59,286
 4,62,700  4,62,700
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Working Notes: 
1. Amount paid to creditors in cash  

`

Book value 80,000 
Less:  Creditors taking over investments   ( 13,000)
 67,000 
Less: Discount @ 5%     (3,350)
 63,650

2. Amount received from sale of investments   

`

Book value 50,000 
Less:  Misappropriated by R  (8,000)

42,000
Less: Taken over by a creditor   (9,000)

33,000
Add: Profit on sale of investments   7,000
Cash received from sale of remaining investment 40,000

3. Amount received from debtors     

`

Book value 70,000 
Less:  Unrecorded receipt   (7,000)

63,000
Less: Discount @ 10%   (6,300)

56,700

4. Deficiency of R      

`

Balance of capital as on 31st March, 2014 40,000 
Debtors-misappropriation 7,000 
Investment-misappropriation 11,000

58,000
Less: Realisation Profit (2,789)
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         General reserve (8,889) 
         Contribution from private assets  (7,000)
Net deficiency of capital 39,322

This deficiency of ` 39,322 in R’s capital account will be shared by other partners P, 
Q and S in their capital ratio of 15 : 15 : 6.by

Accordingly, 
P’s share of deficiency = [39,322 x (15/36)] =  ` 16,384

 Q’s share of deficiency = [39,322 x (15/36)] =  ` 16,384
 S’s share of deficiency = [39,322 x (6/36)] =  `   6,554

2.  (i)        In the books of XYZ & Co. 
Realisation Account 

` `

To Plant & Machinery 5,00,000 By Trade payables 3,00,000
To Furniture & Fixture 50,000 By ABC Ltd. (Refer W.N.) 6,00,000
To Stock in trade 2,00,000 By Partners’ Capital Accounts 

(loss): 
To Trade receivables 2,00,000    X’s Capital A/c 20,000
     Y’s Capital A/c 20,000
      Z’s Capital A/c   10,000
  9,50,000   9,50,000

Partners’ Capital Accounts 

X Y Z X Y Z
` ` ` ` ` `

To Realisation 
A/c

20,000 20,000 10,000 By Balance b/d 2,00,000 3,00,000 1,00,000

To Shares in 
ABC Ltd. 

2,40,000 2,40,000 1,20,000 By General 
Reserve 

40,000 40,000 20,000

To Cash A/c             - 80,000             - By Cash A/c   20,000            -  10,000
  2,60,000 3,40,000 1,30,000   2,60,000 3,40,000 1,30,000
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Cash and Bank Account 

Cash Bank Cash Bank 
` ` ` ` 

To Balance b/d 40,000 10,000 By Cash A/c 
(Contra)

 10,000 

To Bank A/c 
(Contra)* 

10,000  By Y 80,000  

To X 20,000      
To Z 10,000     
  80,000 10,000   80,000 10,000

(ii)           In the Books of ABC Ltd. 
Journal Entries 

Dr. (` ) Cr. (` )
1. Business Purchase Account Dr. 6,00,000  
  To XYZ & Co.   6,00,000 

(Being business of XYZ & Co. purchased 
and payment due) 

   

2. Plant and Machinery Account Dr. 5,00,000  
 Furniture and Fixture Account Dr. 50,000  
 Inventories Account Dr. 2,00,000  
 Trade Receivables Account Dr. 2,00,000  
  To Trade Payables Account   3,00,000 
  To Unrecorded Liability Account   25,000 
  To Business Purchase Account   6,00,000 
  To Capital Reserve Account (Bal. Fig.)   25,000
 (Being take over of all assets and liabilities)    
3. XYZ & Co. Dr. 6,00,000  
  To Equity Share Capital Account   5,00,000 

                                                           
It is assumed that cash at bank has been withdrawn to pay ` 80,000 to partner Y.  However, payment 

to Y of ` 80,000 can also be made by cash ` 70,000 & by cheque ` 10,000. 
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  To Securities Premium Account   1,00,000 
 (Being purchase consideration discharged in 

the form of shares of ` 10 each issued at a 
premium of ` 2 each) 

   

4. Trade Payables Account Dr. 1,00,000  
  To Trade Receivables Account   1,00,000 
 (Being mutual owings eliminated)    

Balance Sheet of ABC Ltd. (After take over of XYZ & Co.) 
as at 31.3.20015 

Note No. `  

Equity and Liabil i t ies 
Shareholders funds 
   Share capital 1 25,00,000 
   Reserve and Surplus 2 8,25,000 
Current liabilities 
   Trade Payables (3,00,000 + 13,00,000 – 1,00,000)  15,00,000 
   Others (Unrecorded Liability)      25,000

Total  48,50,000
Assets 
Non-current assets 
   Fixed assets   
        Tangible assets 3 23,75,000 
Current assets 
   Inventories(2,00,000 + 8,50,000)  10,50,000 
   Trade Receivables (2,00,000 + 8,25,000 – 1,00,000)  9,25,000 
   Cash and cash equivalent 4   5,00,000

Total  48,50,000
   

Notes to Accounts 

 ` 

1. Share Capital 
2,50,000, Equity shares of ` 10 each fully paid up   25,00,000 
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(out of which 50,000 shares has been issued for 
consideration other than cash) 

2 Reserve and Surplus 
  Securities Premium 1,00,000  
  Capital Reserve 25,000  
  General Reserve 7,00,000 8,25,000 
3. Tangible assets 
 Plant and Machinery (5,00,000 + 16,00,000) 21,00,000  
 Furniture and fixture  (50,000 + 2,25,000) 2,75,000 23,75,000 
4. Cash and cash equivalent  
  Cash at Bank 4,00,000  
  Cash in hand 1,00,000 5,00,000 

Working Note: 
Computation of purchase consideration: 
50,000, Equity shares of ` 12 (10+2) each = ` 6,00,000
Equity shares distributed among partners: 

Partner X = 20,000 shares @ ` 12  = ` 2,40,000
Partner Y = 20,000 shares @ ` 12  = ` 2,40,000
Partner Z = 10,000 shares @ ` 12  = ` 1,20,000
          ` 6,00,000

3. (a)    Balance Sheet of the PQR Pvt. Ltd. as on 1-4-2015 

Note No. `  

Equity and Liabil i t ies 
Shareholders funds 
   Share capital 1 1,90,000 
Current liabilities 
   Trade Payables     48,000

Total  2,38,000
Assets 
Non-current assets 
   Fixed assets   
   Tangible assets 2 1,22,000 

© The Institute of Chartered Accountants of India



26 INTERMEDIATE (IPC) EXAMINATION: NOVEMBER, 2015 

  Intangible assets 3 36,000 
  Current assets 
  Inventories  50,000 
  Trade Receivables     30,000

Total  2,38,000

Notes to Accounts 

` 

1. Share Capital 
   Equity share capital  18,000 fully paid shares of ` 10 each 1,80,000

    Preference share capital (9% Preference Shares)    10,000
   (All the shares have been issued for consideration other 
than cash) 

1,90,000

2. Tangible assets 
    Plant and Machinery 1,02,000 
    Fixtures   20,000
  1,22,000
3. Intangible assets 
    Goodwill 36,000 

(b) In the books of Partnership Firm 

Partners’ Capital Accounts 

P Q R P Q R
`  `  `  `  `  `  

To Plant and 
machinery 
account 

3,000 2,000 1,000 By Balance b/d 50,000 30,000 20,000

To Equity shares 
in PQR Pvt. Ltd.  

90,000 60,000 30,000 By Reserve 
fund 

30,000 20,000 10,000

To 9% 
Preference 
shares in PQR 
Pvt. Ltd.  

5,000 5,000

By Realization
     A/c (Profit
     on sale of
     business) 18,000 12,000 6,000

 98,000 62,000 36,000  98,000 62,000 36,000
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(c) Statement showing the final settlement between the Partners taking Q’s 
capital as basis 

P Q R Total
` ` ` ` 

Value of Equity Shares to be allotted, 
taking Q’s capital as basis 
P’s Capital = 60,000 × 3/2 
R’s Capital = 60,000 × 1/2 90,000 60,000 30,000 

Total Value of Equity Shares allotted to 
P,Q and R 

 1,80,000

9% Preference Shares to be allotted to P 
` (95,000-90,000) 5,000
9%Preference Shares to be allotted to R
`  (35,000-30,000) 5,000 
Total Value of Preference Shares allotted 
to P and R   10,000
Total Purchase Consideration    1,90,000

Taking Q’s capital as Basis, both P and R have ` 5,000 each as excess in their 
capital account balances. Since interest on capital is meant to compensate those 
whose capital is in excess of proportionate limits and since in the case of partners it 
is an appropriation of profit, it will be proper to give 9% preference shares to P and 
R for ` 5,000 each and the remaining amount of ` 1,80,000 in the form of Equity 
Shares to be divided among P, Q and R in the ratio 3:2:1. They will then share the 
company’s profit in the ratio 3:2:1 after allowing preference dividend.  
Working Notes: 
1.  Calculation of goodwill   

2010-11 2011-12 2012-13 2013-14 2014-15 
` ` ` ` `

Profits 10,000 (5,000) 18,000 27,000 30,000 
Adjustment for abnormal loss       
in  2011-12 — 10,000 — — — 
 10,000 5,000 18,000 27,000 30,000 
Total Profit from 2010-11 to 
2014-15 

     
90,000 

Average Profit (90,000 / 5)     18,000 
Goodwill equal to 2 years’ 
purchase 

     
36,000 
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2 Purchase consideration - Computation of Value placed on business: 
 Assets :  `

 Goodwill 36,000 
 Plant & Machinery  1,02,000 
 Fixtures  20,000 
 Stock  50,000 
 Sundry Debtors      30,000
  2,38,000 

Less: Liabilities: 
          Creditors    48,000

Purchase Consideration           1,90,000
4. Distinction between an ordinary partnership f irm and an LLP   

Key Elements Partnerships LLPs 
1 Applicable Law Indian Partnership Act 

1932
The Limited Liability 
Partnerships Act, 2008 

2 Registration Optional  Compulsory with ROC 
3 Creation Created by an Agreement Created by Law 
4 Body Corporate No Yes 
5 Separate Legal Entity No Yes 
6 Perpetual Succession Partnerships do not have 

perpetual succession 
It has perpetual  
succession and 
individual partners may 
come and go 

7 Number of Partners Minimum 2 and Maximum 
20 (subject to 10 for 
banks) 

Minimum 2 but no 
maximum limit 

8 Ownership of Assets Firm cannot own any 
assets. The partners own 
the assets of the firm 

The LLP as an 
independent entity can 
own assets 

9 Liability of Partners / 
Members 

Unlimited: Partners are 
severally and jointly liable 
for actions of other 
partners and the firm and 
their liability extends to 
personal assets 

Limited to the extent of 
their contribution 
towards LLP except in 
case of intentional fraud 
or wrongful act of 
omission or commission 
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by a partner. 
10 Principal Agent 

Relationship 
Partners are the agents of 
the firm and of each other 

Partners are agents of 
the firm only and not of 
other partners 

Under section 64 of the LLP Act, 2008, an LLP may be wound up by the Tribunal in the 
following circumstances: 

If the LLP decides that it should be wound up by the Tribunal; 
If for a period of more than six months, the number of partners of the LLP is 
reduced below two; 
If the LLP is unable to pay its debts; 
If the LLP has acted against the interests of the integrity and sovereignty of India, 
the security of the state or public order; 
If the LLP has defaulted in the filing of the Statement of Account and Solvency with 
the Registrar for five consecutive financial years; 
If the Tribunal is of the opinion that  it is just and equitable that the LLP be wound 
up.

5.  Fair value of an option = ` 28      
Difference between Fair value and Issue Price =` 28 – ` 25 = 3.  
Number of employees accepting the offer = 400 employees x 50% = 200 employees 
Number of shares issued = 200 employees x 100 shares/employee = 20,000 shares 
Employee Compensation Expenses recognized in 2014-15 =20,000 shares x ` 3 =  
` 60,000 
Securities Premium A/c = ` 28 – 10 = ` 18 per share = 20,000 x 18 = ` 3,60,000 

Journal Entry 
Date Particulars ` `
30.04.2014 Bank (20,000 shares x ` 25)    Dr. 5,00,000
 Employees compensation expense A/c  Dr. 60,000  
  To Share Capital   2,00,000 
  To Securities Premium   3,60,000 

(Being stock purchase option accepted by 200 
employees for 100 shares each at ` 25 per 
share on a Fair Value of ` 28 per share) 

 Note:  Employees compensation expenses amounting ` 60,000 will ultimately be charged 
to profit & loss account. 
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6.        ABC Limited
Balance Sheet as on June 30, 2014 

Particulars Note No Figures as at the end of 
current reporting period 

` 

I. Equity and Liabili t ies  
 (1) Shareholder's Funds  
  (a) Share Capital 1   90,00,000 
          (b) Reserves and Surplus 2   1,92,50,000 
    (2) Non-Current Liabil it ies  
          (a) Long-term borrowings  70,00,000
    (3) Current Liabi l it ies  
          (a) Short-term provisions 1,80,00,000

Total   5,32,50,000
II. Assets  
     (1) Non-current assets  
           (a) Fixed assets 2,50,00,000
   (2) Current assets  
  (a) Cash and cash equivalents 12,50,000
          (b) Other current assets  2,70,00,000 

Total    5,32,50,000 

Notes to Accounts 
` 

1. Share Capital    
     9,00,000 Equity Shares of ` 10 each 90,00,000

2. Reserves and Surplus    
General Reserve 1,10,00,000 
Add: Debenture Redemption Reserve transfer    70,00,000

1,80,00,000 
Add: Profit on sale of investments     10,00,000

1,90,00,000 
Less: Premium on redemption of debentures   (15,00,000) 1,75,00,000 
Securities Premium Account    17,50,000 

    1,92,50,000
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Working Notes : 
(i) Calculation of number of shares to be allotted : 
  Total number of debentures 1,50,000 

Less: Number of debentures not opting for conversion (50,000)
   1,00,000 
  25% of 1,00,000 25,000
  Redemption value of 25,000 debentures @ 110 ` 27,50,000 
  Number of Equity Shares to be allotted : 

  =
27,50,000

27.50
= 1,00,000 shares of ` 10 each. 

(ii) Calculation of cash to be paid : ` 

  Total Number of debentures 1,50,000 
Less: number of debentures to be converted into equity shares (25,000)

   1,25,000
  Redemption value of 1,25,000 debentures @110 ` 1,37,50,000 
(iii) Cash and Bank Balance:  
  Balance before redemption 80,00,000 
  Add : Proceeds of investments sold 70,00,000
   1,50,00,000 
  Less : Cash paid to debenture holders (1,37,50,000)
   12,50,000
Note:: The premium on redemption of debentures can also be adjusted against Securities 
Premium Account. 

7.      Journal Entries in the books of M Ltd. 

Dr. Cr.
` in ‘000 ` in ‘000

1 Bank A/c Dr. 5,000 
 Profit and Loss A/c Dr. 1,000 
  To Investment A/c   6,000

(Being investment sold for the purpose of buy-back of 
Equity Shares) 

2 Preference share capital A/c Dr. 4,000 
  To Preference shareholders A/c   4,000
 (Being redemption of preference share capital at par)   
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3 Preference shareholders A/c Dr. 4,000 
  To Bank A/c   4,000
 (Being payment made to preference shareholders)   
4 Revenue Reserve A/c Dr. 4,600 
  To Capital redemption reserve A/c    4,600

(Being creation of capital redemption reserve to the 
extent of nominal value of preference shares 
redeemed and amount of equity bought back i.e. 
4,000 + 600) 

5 Equity share capital A/c Dr. 600 
Securities Premium A/c (Premium payable on buy-
back) 

Dr. 300 

  To Equity shares buy-back A/c   900
 (Being the amount due on buy-back of equity shares )   
6 Equity shares buy-back A/c Dr. 900 
  To Bank A/c   900
 (Being payment made for buy-back of equity shares)   

Balance Sheet of the M Ltd. as on 1st April, 2015 

Notes No. ` in ‘000 
Equity and Liabilities   
1 Shareholders funds   
    Share capital 1 5,400 

   Reserves and Surplus 2 11,320 
2 Non-current liabilities   
    Long term borrowings 3 500 
3 Current liabilities       380

Total 17,600
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Assets   
1 Non-current assets   
   (a) Fixed assets  5,500 

   (b) Non-current investments 4 4,000 
2 Current assets 5 8,100

Total 17,600

Notes to Accounts 

` in ‘000 ` in ‘000
1. Share Capital    
 Authorized share capital:   10,000

Issued, subscribed and fully paid up share capital:  
5,40,000 Equity shares of ` 10 each, fully paid up  5,400
(60,000 equity shares had been bought back and 
cancelled during the year) 

2. Reserves and Surplus  
 Capital Reserves 20 

Securities Premium  1,000  
Less: Premium on buy-back of equity shares (300) 700 

Revenue Reserve 8,000
Less: Transfer to Capital Redemption Reserve (4,600) 3,400 

Capital Redemption reserve 4,600 
Surplus (Profit & Loss Account) 3,600  

Less: Loss on sale of investment (1,000) 2,600 11,320
3. Long term borrowings  
  10% Debentures   500
4. Non-current investments  
 Balance   10,000
5 Current assets  
 Balance  8,000 

Add:  Cash received on sale of investment 5,000 
Less: Payment made to equity shareholders for 
   buy back of shares 

(900)

         Payment made to preference shareholders  (4,000) 8,100
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8. When the benefit of f irm underwrit ing is given to individual underwriters
(i) Total marked applications: 

M   N O P 
2,50,000 2,00,000 2,00,000 80,000 = 7,30,000 

(i i) Shares subscribed excluding firm underwriting 
Total applications              8,00,000  shares 
Less : Marked applications            (7,30,000)  shares 
Unmarked  70,000

(ii i)   Statement showing Liabili ty of underwriters 
M N O P Total

Gross liability  3,50,000 3,00,000 2,50,000 1,00,000 10,00,000
Less: Marked applications (2,50,000) (2,00,000) (2,00,000) (80,000) (7,30,000)
 1,00,000 1,00,000 50,000 20,000 2,70,000
Less: Unmarked  
          (in Gross Ratio) 

(24,500) (21,000) (17,500) (7,000) (70,000)

 75,500 79,000 32,500 13,000 2,00,000
Less: Firm underwriting  (30,000) (50,000) 40,000 (18,500) (1,38,500)
 45,500 29,000 (7,500) (5,500) 61,500
Less: Surplus of ‘O’ and ‘P’ 
          allotted to  
           M,& N (35:30) 7,000 6,000 7,500 5,500         –
Net liability 38,500 23,000          -         - 61,500

(iv)  Statement of underwriters’ l iabil ity
M N O P Total 

Firm 30,000 50,000 40,000 18,500 1,38,500
Others 38,500 23,000          -           - 61,500

TOTAL 68,500 73,000 40,000 18,500 2,00,000

(v)  Amounts due from underwriters 
M N O P Total

Shares to be subscribed  
as per (iv) above      68,500      73,000      40,000      18,500      2,00,000
Amount due @ ` 60 per 
share

41,10,000 43,80,000 24,00,000 11,10,000 1,20,00,000
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Less: Commission due 
         on  shares  
         underwritten (10,50,000) (9,00,000) (7,50,000) (3,00,000) (30,00,000)
 30,60,000 34,80,000 16,50,000 8,10,000 90,00,000

(vi) Commission payable to underwriters 

M 10,00,000 X 100 X 35% X 3%  = 10,50,000
N 10,00,000 X 100 X 30% X 3%  = 9,00,000
O 10,00,000 X 100 X 25% X 3%  = 7,50,000
P 10,00,000 X 100 X 10% X 3%  = 3,00,000

Journal Entry 
` ` 

Bank A/c  5,70,00,000  
Underwriting Commission A/c                          Dr. 30,00,000  
 To  Equity share Application A/c  6,00,00,000 

9.      Journal Entries in the books of Platinum Ltd.  

` ` 

Bank A/c (1,00,000 x ` 10)        Dr. 10,00,000
  To Equity share capital A/c  10,00,000 
 (Being money on final call received)   

Equity share capital (`  50) A/c        Dr. 75,00,000
 To Equity share capital (` 40) A/c  60,00,000 

  To Capital Reduction A/c  15,00,000 
(Being conversion of equity share capital of ` 50 each 
into ` 40 each as per reconstruction scheme) 

 Bank A/c              Dr. 12,50,000  
  To Equity Share Capital A/c  12,50,000 

(Being new shares allotted at ` 40 each) 
 Trade payables A/c           Dr. 12,40,000  
  To Equity share capital A/c  7,50,000 
  To Bank A/c (4,90,000 x 70%)  3,43,000 
  To Capital Reduction A/c   1,47,000 

(Being payment made to trade payables in shares or 
cash to the extent of 70% as per reconstruction 
scheme) 
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 8% Debentures A/c           Dr.  3,00,000  
 12% Debentures A/c           Dr.  4,00,000  
  To Shiv A/c  7,00,000 

(Being cancellation of 8% and 12% debentures of 
Shiv)  

 Bank A/c              Dr. 1,00,000  
  To Shiv A/c  1,00,000 
 (Being new debentures subscribed by Shiv)   
 Shiv A/c              Dr. 8,00,000  
  To 15% Debentures A/c  6,00,000 
  To Capital Reduction A/c  2,00,000 

(Being issuance of new 15% debentures and balance 
transferred to capital reduction account as per 
reconstruction scheme) 

 8% Debentures A/c           Dr.  1,00,000  
 12% Debentures A/c           Dr.  2,00,000  
   To Ganesh A/c  3,00,000 

(Being cancellation of 8% and 12% debentures of 
Ganesh)  

 Ganesh A/c            Dr. 3,00,000  
  To 15% Debentures A/c  2,50,000 
  To Capital Reduction A/c  50,000 

(Being issuance of new 15% debentures and balance 
transferred to capital reduction account as per 
reconstruction scheme) 

 Land and Building            Dr. 
(51,84,000 – 42,70,000) 

9,14,000  

 Inventories            Dr. 30,000  
  To Capital Reduction A/c  9,44,000 
 (Being value of assets appreciated)   
 Outstanding expenses A/c         Dr. 10,60,000  
  To Bank A/c  10,60,000 
 (Being outstanding expenses paid in cash)   
 Capital Reduction A/c          Dr. 33,41,000  
  To Machinery A/c  1,30,000 
  To Computers A/c  1,20,000 
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  To Trade receivables A/c  1,09,000 
  To Goodwill A/c  22,00,000 
  To Profit and Loss A/c  7,82,000 

(Being amount of Capital Reduction utilized in writing 
off P & L A/c (Dr.) balance, goodwill and downfall in 
value of other assets) 

 Capital Reserve A/c           Dr. 5,00,000  
  To Capital Reduction A/c  5,00,000 

(Being debit balance of capital reduction account 
adjusted against capital reserve) 

Balance Sheet (as reduced) as on 31.3.2014 

Particulars Notes ` 

Equity and Liabilit ies 
1 Shareholders' funds 

a Share capital 1 80,00,000 
2 Non-current l iabil i t ies 

a Long-term borrowings 2   8,50,000
Total 88,50,000

Assets 
1 Non-current assets 

a Fixed assets   
 Tangible assets 3 63,04,000 

2 Current assets 
a Inventories  3,50,000 
b Trade receivables  9,81,000 
c Cash and cash equivalents  12,15,000

Total  88,50,000

Notes to accounts 

`

1. Share Capital 
2,00,000 Equity shares of `  40 80,00,000
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2. Long-term borrowings 
 Secured    

15% Debentures (assumed to be secured) 8,50,000
3. Tangible assets 
 Land & Building 51,84,000  
 Machinery 7,20,000  
 Computers    4,00,000 63,04,000

Working Notes: 
1.     Cash at Bank Account

Particulars ` Particulars `

To Balance b/d 2,68,000 By Trade Creditors A/c 3,43,000
To Equity Share capital A/c 10,00,000 By Outstanding expenses A/c 10,60,000
To Equity Share Capital A/c 12,50,000 By Balance c/d (bal. fig.) 12,15,000
To Shiv A/c   1,00,000            
  26,18,000   26,18,000

2.     Capital Reduction Account
Particulars ` Particulars ` 

To Machinery A/c 1,30,000 By Equity Share Capital A/c 15,00,000 
To Computers A/c 1,20,000 By Trade Creditors A/c 1,47,000 
To Trade receivables A/c 1,09,000 By Shiv A/c  2,00,000 
To Goodwill A/c 22,00,000 By Ganesh A/c  50,000 
To Profit and Loss A/c 7,82,000 By Land & Building 9,14,000 
   By Inventories 30,000 
           By Capital Reserve A/c 5,00,000
  33,41,000   33,41,000

10.           LEDGER OF BETTER LIMITED
Fixed Assets Account 

`    ` 

To Balance b/d 15,00,000 By Realisation A/c (transfer) 15,00,000
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Current Assets Account 
`    ` 

To Balance b/d 5,00,000 By Realisation A/c (transfer) 5,00,000
Liabilities Account 

`    ` 

To Realisation A/c 2,00,000 By Balance b/d 2,00,000 
Realisation Account 

`    ` 

To Fixed Assets A/c 15,00,000 By Liabilities A/c 2,00,000 
To Current Assets A/c 5,00,000 By Best Limited 15,00,000 
    (Purchase Consideration) 
   By  Shareholders’ A/c 3,00,000 
    (Loss on Realisation) 
  20,00,000   20,00,000

Share Capital Account 
`    ` 

To Sundry shareholders  By Balance b/d 10,00,000 
 A/c - (transfer) 15,00,000 By Reserves & Surplus A/c 
    (Bonus issue) 5,00,000
  15,00,000   15,00,000

Reserves & Surplus Account 

`    ` 

To Share Capital (Bonus issue) 5,00,000 By Balance b/d 8,00,000 
To Sundry Shareholders 3,00,000    
  8,00,000   8,00,000

Best Ltd. 

`    ` 

To Realisation A/c - Purchase  By  Shares in Best Ltd 15,00,000 
 Consideration 15,00,000    

 15,00,000   15,00,000
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Shares in Best Ltd. 

`    ` 

To Best Ltd. 15,00,000 By Sundry Shareholders A/c 15,00,000 
Sundry Shareholders Account 

`    ` 

To Realisation A/c 3,00,000 By Share Capital A/c 15,00,000 
 (Loss)  By Reserves & Surplus A/c 3,00,000 
To  Share in Best Ltd. 15,00,000
  18,00,000   18,00,000

Journal of Best Ltd. 

   Dr. Cr. 
2014   ` ` 

Apr. 1 Fixed Assets A/c Dr. 15,00,000 
 Current Assets A/c Dr. 5,00,000 

   To Liabilities A/c  2,00,000 
   To Liquidator of Better Ltd.  15,00,000 
   To Capital Reserve A/c  3,00,000 

 (Assets & Liabilities of Better Ltd. 
taken over for an agreed purchase 
consideration of ` 15,00,000 as per 
agreement dated....) 

  Liquidator of Better Ltd. Dr. 15,00,000 
   To Share Capital A/c  10,00,000 
   To Securities Premium A/c  5,00,000 

 (Discharge of Purchase consideration 
by the issue of equity shares of  
` 10,00,000 at a premium of ` 50 per 
share as per agreement) 

  Trade payables A/c Dr. 1,00,000 
   To Trade receivables A/c  1,00,000 

 (Amount due from Better Ltd., and 
included in its creditors taken over, 
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cancelled against own Trade 
receivables) 

  Capital Reserve A/c Dr. 10,000 
   To Current Asset (Stock) A/c  10,000 

 (Unrealized profit on stock included in 
current assets of Better Ltd. written off 
to Reserve Account) 

Working Note : 
Calculation of Purchase consideration: 
Issued Capital of Better Ltd. (after bonus issue) at ` 100 per share ` 15,00,000 Purchase 
consideration has been discharged by Best Ltd. by the issue of shares for  
` 10,00,000 at a premium of ` 5,00,000. This gives the value of ` 150 per share. 

Balance Sheet of Best Ltd. (After absorption) 

Particulars Notes ` 

Equity and Liabilit ies 
1 Shareholders' funds 

a Share capital 1 30,00,000 
b Reserves and Surplus 2 17,90,000 

2 Current l iabil i t ies  21,00,000
Total 68,90,000 

Assets 
1 Non-current assets 

a Fixed assets  
Tangible assets 3 40,00,000 

b Non-current investments 5,00,000 
2 Current assets  (24,00,000 – 10,000) 23,90,000

Total 68,90,000 

Notes to accounts

` 

1 Share Capital 
Equity share capital 
Issued & Subscribed 
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   30,000 shares of ` 100 (Of the above 10,000 shares
   have been issued for consideration other than cash) 30,00,000 

Totall 30,00,000 
2 Reserves and Surplus 

Capital Reserve (3,00,000 – 10,000) 2,90,000 
Securities Premium 5,00,000 
Other reserves and surplus 10,00,000 

Totall 17,90,000 
3 Tangible assets 

Fixed Assets 25,00,000 
Acquired during the year 15,00,000 40,00,000 

Totall 40,00,000 

11.      Liquidator’s Statement of Account 
Receipts ` Payments ` 

To Assets realised - By Liquidation expenses 57,250
 Cash & cash equivalent 1,00,000 By Liquidator’s Remuneration 59,750
 Plant &Machinery 5,00,000 By Preferential creditors: 

Inventories 1,50,000   Taxes 12,500 
 Trade receivables 2,00,000 9,50,000  Wages to workers  60,000 72,500
To Sale proceeds of land & 

Building 
3,00,000 By Payment to Debenture 

holders: 
Less: Applied to  1,00,000 2,00,000   Debentures 2,50,000 

 discharge bank overdraft   Interest due 12,500 2,62,500
To  Call on 7,500 equity 

shareholders of ` 60 paid 
up @ ` 12.45 per share 

93,375 By Trade payables 2,25,000

  By Preference shareholders:
   Preference capital 5,00,000 
   Arrear of Dividend 60,000 5,60,000
  By Equity shareholders – 

refund on 2,500 equity 
shares of  
` 75 paid up @ 2.55 per 
share       6,375

  12,43,375    12,43,375
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Working Notes: 
(i) Computation of Liquidator’s remuneration       `

Assets realized 
Plant and Machinery 5,00,000 
Inventories 1,50,000 
Trade receivables 2,00,000 
Land and Building 3,00,000
Total  11,50,000
Commission @ 5% on assets realized (A) 57,500 
Liabil it ies discharged 
Trade payables 2,25,000
Total 2,25,000
Commission @ 1% on liabilities discharged (B) 2,250
Total (A+B)  59,750

(ii)  Calls from Partly paid shares 

`

Total receipts before considering call money 
Cash and cash equivalents 1,00,000 
Plant and Machinery 5,00,000 
Inventories 1,50,000 
Trade receivable 2,00,000 
Land and Building (after discharge of Bank overdraft) 2,00,000
Total 11,50,000 
Total payments before final payment to equity Shareholders 
Liquidator’s remuneration 59,750 
Liquidation expenses 57,250 
Preferential creditors 72,500 
Payment to Debenture holders 2,62,500 
Trade payables 2,25,000 
Payment to Preference shareholders 5,60,000
Total 12,37,000 
Surplus/(Deficit) from above before calls made on equity shares (87,000) 
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Nominal call to be made: 
2,500 equity shares @ ` 25 per share 62,500
7,500 equity shares @ ` 40 per share 3,00,000
Total 3,62,500
Surplus cash balance after notional call 2,75,500 
Total number of equity shares for distribution of surplus cash  
(2,500 + 7,500) 

10,000

Surplus cash per equity share 27.55 
Amount of refund on ` 75 per share paid up (27.55-25) 2.55 
Amount of call on ` 60 per share paid up (40-27.55) 12.45

12.      Form B – RA (Prescribed by IRDA) 
Gemini Insurance Co. Ltd 

Revenue Account for the year ended 31st March, 2014 
Fire and Marine Insurance Businesses 

Schedule Fire
Current 

Year

  Marine 
 Current Year 

` `

Premiums earned (net) 1 9,65,000 3,20,000 
Profit / (Loss) on sale / redemption of 
investments 
Others (to be specified) 
Interest, Dividends and Rent – Gross  

 — 

—

—

—
             

Total (A)  9,65,000 3,20,000
Claims incurred (net) 2 1,90,000 2,03,000 
Commission 3 92,000 46,000 
Operating expenses related to Insurance 
business 

4 1,60,000 1,10,000

Total (B)  4,42,000 3,59,000
Operating Profit from Fire / Marine 
Insurance business (A-B) 5,23,000 (39,000)
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Schedules forming part of Revenue Account  
Schedule –1 

Premiums earned (net) Fire 
Current 

Year 

Marine 
Current 

Year 
` `

Premiums from direct business written  10,70,000 7,95,000 
Less: Premium on reinsurance ceded  60,000 35,000
Total Premium earned   10,10,000 7,60,000 
Less: Change in provision for unexpired risk  45,000 4,40,000

 9,65,000 3,20,000
Schedule – 2    
Claims incurred (net) (W.N. 1)  1,90,000 2,03,000 
Schedule – 3    
Commission    
Commission paid direct  92,000 46,000 
Schedule – 4    
Operating expenses related to insurance 
business 

   

Expenses of Management (W.N. 2)  1,60,000 1,10,000 

Form B-PL 
Gemini Insurance Co. Ltd. 

Profit and Loss Account for the year ended 31st March, 2014 

Particulars Schedule Current Year Previous Year 
` `

Operating Profit/(Loss)     
(a) Fire Insurance   5,23,000  
(b) Marine Insurance  (39,000)  
(c) Miscellaneous Insurance  -  
Income From Investments     
Interest, Dividend & Rent–Gross  2,97,000
Other Income (To be specified)     
Total (A)  7,81,000
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Provisions (Other than taxation)  
Depreciation  1,00,000  
Other Expenses  –Director’s Fee  1,84,000
Total (B)  2,84,000
Profit Before Tax  4,97,000  
Provision for Taxation  1,50,000
Profit After Tax  3,47,000

Working Notes: 

Fire Marine 
` `

1. Claims under policies less reinsurance   
 Claims paid during the year 2,30,000 1,84,000 

Add: Outstanding on 31st March, 2014 23,000 34,000
  2,53,000 2,18,000 

Less : Outstanding on 1st April, 2013 63,000 15,000
  1,90,000 2,03,000

2. Expenses of management   
 Expenses paid during the year 1,40,000 1,00,000 

Add: Outstanding on 31st March, 2014 20,000 10,000
  1,60,000 1,10,000

3. Premiums less reinsurance   
 Premiums received during the year 10,00,000 7,50,000 

Add: Outstanding on 31st March, 2014 70,000 45,000
  10,70,000 7,95,000 

Less : Reinsurance premiums     60,000    35,000
  10,10,000 7,60,000

4. Reserve for unexpired risks is 50% of net premium for fire insurance and 100% 
of net premium for marine insurance. Reserve for unexpired risks for fire 
insurance = ` 10,10,000 X 50% = ` 5,05,000. Opening Balance in reserves for 
unexpired risk for fire insurance was ` 4,60,000. Hence, additional transfer to 
reserve for fire insurance in the year will be ` 45,000. On similar basis of 
calculation, the additional transfer to reserve for marine insurance will be  
` 4,40,000.
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5. Provision for taxation account 

` `

31.3.2014 To Bank A/c 1.4.2013 By Balance b/d 1,95,000
     (taxes paid) 1,40,000 31.3.2014 By P & L A/c (Bal Fig) 1,50,000
31.3.2014 To Balance c/d 2,05,000   
 3,45,000   3,45,000

13.       TOP Bank Limited 
Profit and Loss Account for the year ended 31st March, 2014 

Schedule Year ended 
31.03. 2014 
(` in ‘000s) 

I. Income: 
 Interest earned 13 5923.18 
 Other income 14 728.00
 Total  6,651.18
II. Expenditure 
 Interest expended 15 3259.92 
 Operating expenses 16 768.46 
 Provisions  and contingencies (960+210+900)  2,070.00
 Total  6,098.38
IIII. Profits/Losses 
 Net profit for the year  552.80 
 Profit brought forward  nil
   552.80
IV. Appropriations 

Transfer to statutory reserve (25%)  138.20 
Balance carried over to balance sheet  414.60
  552.80
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Year ended 
31.3. 2014 

(` in ‘000s) 
Schedule 13 – Interest Earned 

I. Interest/discount on advances/bills (Refer W.N.) 5923.18
  5923.18

Schedule 14 – Other Income 
I. Commission, exchange and brokerage 304 
II. Profit on sale of investments   320 
III. Rent received 104
  728

Schedule 15 – Interest Expended 
I. Interests paid on deposits 3259.92
   

Schedule 16 – Operating Expenses
I. Payment to and provisions for employees 320 
II. Rent, taxes and lighting 144 
III. Depreciation on bank’s properties  48 
IV. Director’s fee, allowances and expenses 48 
V. Auditors’ fee 28 
VI. Law (statutory) charges 44 
VII. Postage and telegrams 96.46 
VIII. Preliminary expenses        40
  768.46

Working Note: 

(` in ‘000s)
Interest/discount  5,929.18 
Add: Rebate on bills discounted on 31.3. 2013 19.00 
Less: Rebate on bills discounted on 31.3. 2014      25.00

 5,923.18
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14.   Calculation of correct Departmental Profits

Department 
P (`)

Department 
S (`)

Department Q 
(`)

Profit after charging Manager’s 
Commission 

90,000 60,000 45,000

Add: Manager’s Commission (1/9) 10,000 6,667 5,000
 1,00,000 66,667 50,000
Less: Unrealised profit on Stock (WN)  (5,426) (21,000) (2,727)
Profit Before Manager’s Commission 94,574 45,667 47,273
Less: Manager’s Commission 10% (9,457) (4,567) (4,727)
Correct Profit after Manager’s Commission 85,117 41,100 42,546

Working Notes: 

Department P 
(`)

Department S 
(`)

Department Q  
(`)

Total 
(`)

Unrealized Profit of:      
Department P - 25/125X18,000 

=3,600
15/115X14,000 

=1,826 
5,426

Department S 20/100X48,000 
=9,600 

- 30/100X38,000 
=11,400 

21,000

Department Q 20/120X12,000 
=2,000 

10/110X8,000 
=727

 2,727 

15. (a)     Journal entry in the books of Head Office 

Date Particulars Dr. Cr.
` `

30.4.2014 W.B. Branch Account Dr.    45,000  
  To A.P. Branch Account  5,000 
  To M.P. Branch Account  10,000 
  To U.P. Branch Account  30,000 

(Being adjustment entry passed by head 
office in respect of inter-branch 
transactions for the month of April, 2014) 
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Working Note: 
Inter – Branch transactions 

A.P M.P. W.B. U.P.
` ` ` `

A. A.P Branch     
(1) Received goods 55,000 (Dr.) 30,000 (Cr.)  25,000 (Cr.)
(2) Sent goods 50,000 (Cr.) 20,000 (Dr.) 30,000 (Dr.)
(3) Received Bills 

receivable 
10,000 (Dr.) 10,000 (Cr.) 

(4) Sent acceptance 30,000 (Cr.) 10,000 (Dr.)  20,000 (Dr.)
B. M.P. Branch      
(5) Received goods 10,000 (Cr.) 30,000 (Dr.)  20,000 (Cr.)
(6) Sent cash 20,000 (Dr.) 30,000 (Cr.)  10,000 (Dr.)

C. W.B. Branch     
(7) Received goods 40,000 (Dr.) 40,000 (Cr.)
(8) Sent cash and 

acceptances 
25,000 (Cr.) 25,000 (Dr.)

D. U.P. Branch     
(9) Sent cash  10,000( Dr.) 20,000 (Dr.) 30,000 (Cr.)

  5,000 (Cr.) 10,000 (Cr.) 45,000 (Dr.) 30,000 (Cr.)

16.  (a) (1) Users of f inancial statements: 
Investors, Employees, Lenders, Supplies/Creditors, Customers, Government & 
Public 

(2) Qualitative Characteristics of Financial Statements: 
Understandability, Relevance, Comparability, Reliability & Faithful 
Representation 

(3) Elements of Financial Statements:
Asset, Liability, Equity, Income/Gain and Expense/Loss   

(b) Fundamental Accounting Assumptions: 
Accrual, Going Concern and Consistency 

17. (a)  Para 8.3 of AS 4 “Contingencies and Events Occurring after the Balance Sheet 
Date”, states that adjustments to assets and liabilities are not appropriate for events 
occurring after the balance sheet date, if such events do not relate to conditions 

© The Institute of Chartered Accountants of India



 PAPER – 5 : ADVANCED ACCOUNTING 51 

existing at the balance sheet date.  The destruction of warehouse due to earthquake 
did not exist on the balance sheet date i.e. 31.3.2014.  Therefore, loss occurred due 
to earthquake is not to be recognised in the financial year 2013-2014. 

 However, according to para 8.6 of the standard, unusual changes affecting the 
existence or substratum of the enterprise after the balance sheet date may indicate 
a need to consider the use of fundamental accounting assumption of going concern 
in the preparation of the financial statements. As per the information given in the 
question, the earthquake has caused major destruction; therefore fundamental 
accounting assumption of going concern is called upon.   

 Hence, the fact of earthquake together with an estimated loss of ` 25 lakhs should 
be disclosed in the Report of the Directors for the financial year 2013-2014. 

(b)) As per para 31 of AS 5 ‘Net Profit or Loss for the Period, Prior Period Items and 
Changes in Accounting Policies’, the adoption of an accounting policy for events or 
transactions that differ in substance from previously occurring events or 
transactions, will not be considered as a change in accounting policy.  
(i) Accordingly, introduction of a formal retirement gratuity scheme by an 

employer in place of ad hoc ex-gratia payments to employees on retirement is 
not a change in an accounting policy. 

(ii) Similarly, the adoption of a new accounting policy for events or transactions 
which did not occur previously or that were immaterial will not be treated as a 
change in an accounting policy 

18. (a)  The financial statements of an integral foreign operation (for example, dependent 
foreign branches) should be translated using the principles and procedures 
described in paragraphs 8 to 16 of AS 11 (Revised 2003).  The individual items in 
the financial statements of a foreign operation are translated as if all its transactions 
had been entered into by the reporting enterprise itself. 

 Individual items in the financial statements of the foreign operation are translated at 
the actual rate on the date of transaction. For practical reasons, a rate that 
approximates the actual rate at the date of transaction is often used, for example, 
an average rate for a week or a month may be used for all transactions in each 
foreign currency during the period.  The foreign currency monetary items (for 
example cash, receivables, payables) should be reported using the closing rate at 
each balance sheet date.  Non-monetary items (for example, fixed assets, 
inventories, investments in equity shares) which are carried in terms of historical 
cost denominated in a foreign currency should be reported using the exchange date 
at the date of transaction.  Thus the cost and depreciation of the tangible fixed 
assets is translated using the exchange rate at the date of purchase of the asset if 
asset is carried at cost.  If the fixed asset is carried at fair value, translation should 
be done using the rate existed on the date of the valuation.  The cost of inventories 
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is translated at the exchange rates that existed when the cost of inventory was 
incurred and realizable value is translated applying exchange rate when realizable 
value is determined which is generally closing rate. 

 Exchange difference arising on the translation of the financial statements of integral 
foreign operation should be charged to profit and loss account.  Exchange 
difference arising on the translation of the financial statement of foreign operation 
may have tax effect which should be dealt as per AS 22 ‘Accounting for Taxes on 
Income’. 

 Thus, the treatment by the management of translating all assets and liabilities; 
income and expenditure items in respect of foreign branches at the prevailing rate 
at the year end and also the treatment of resultant exchange difference is not in 
consonance with AS 11 (Revised 2003). 

 (b)       Journal Entries 
Year  Particulars  ` in lakhs 

(Dr.) 
` in lakhs

(Cr.) 
1 Fixed Asset Account  Dr. 25  
  To Bank Account   25 
 (Being fixed asset purchased)    
 Bank Account  Dr. 10  
  To Fixed Asset Account   10 

(Being grant received from the government 
reduced the cost of fixed asset) 

   

 Depreciation Account (W.N.1) Dr. 2  
  To Fixed Asset Account   2 

(Being depreciation charged on Straight Line 
method (SLM)) 

   

 Profit & Loss Account  Dr. 2  
  To Depreciation Account   2 

(Being depreciation transferred to Profit and 
Loss Account at the end of year 1) 

   

2 Fixed Asset Account Dr. 6  
  To Bank Account   6 

(Being government grant on asset partly
refunded which increased the cost of fixed 
asset) 
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 Depreciation Account (W.N.2) Dr. 3.5  
  To Fixed Asset Account   3.5 

(Being depreciation charged on SLM on 
revised value of fixed asset prospectively) 

   

 Profit & Loss Account  Dr. 3.5  
  To Depreciation Account   3.5 

(Being depreciation transferred to Profit and 
Loss Account at the end of year 2) 

   

Working Notes: 
1. Depreciation for Year 1 

` in lakhs
Cost of the Asset 25 
Less: Government grant received (10)
 15
Depreciation [15-5]/5 2 

2. Depreciation for Year 2 

` in lakhs
Cost of the Asset 25 
Less: Government grant received (10)
 15 
Less: Depreciation for the first year [15-5]/5  2
 13 
Add: Government grant refundable   6
 19
Depreciation for the second year [19-5]/4 3.5 

19. (a) (i) Computation of average accumulated expenses  

 `

` 1,60,000 x 12 / 12 = 1,60,000
` 2,70,000 x 8/ 12 = 1,80,000
` 4,20,000 x 5 / 12 = 1,75,000
` 1,50,000 x 1 / 12 =     12,500
    5,27,500
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(i i)  Calculation of average interest rate other than for specific borrowings 

Amount of loan (` ) Rate of 
interest

Amount of interest
(` )

3,00,000  12% = 36,000
7,00,000  14% = 98,000
10,00,000   1,34,000
Weighted average rate of interest 
{(1,34,000/ 10,00,000) x 100} 

= 13.40% (approx)

(i i i) Interest on average accumulated expenses 

` 

Specific borrowings (` 2,00,000 x 11%) = 22,000
Non-specific borrowings (` 3,27,500* x 13.40%) = 43,885
Amount of interest to be capitalized  = 65,885

(` 5,27,500 – ` 2,00,000) 

(iv) Total expenses to be capitalized for building 

` 

Cost of building ` (1,60,000+2,70,000+4,20,000+1,50,000) 10,00,000
Add: Amount of interest to be capitalised     65,885
 10,65,885

(v)       Journal Entry 

Date Particulars Dr. (` ) Cr. (` )
31.12.2014 Building account Dr. 10, 65,885 
  To Bank account  10, 65,885

(Being amount of cost of 
building and borrowing cost 
thereon capitalized) 

 (b) (i)  Leases are classified based on the extent to which risks and rewards incident 
to ownership of a leased asset lie with the Lessor or the Lessee. 

Risks include the possibilities of losses from idle capacity or technological 
obsolescence and of variations in return due to changing economic 
conditions. 
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Rewards may be represented by the expectation of profitable operation 
over the economic life of the asset and of gain from appreciation in value 
or realisation of residual value. 

 As per AS 19 “Accounting for Lease”, Lease may be of two types: a) Finance 
Lease b) Operating Lease. 

 Finance Leasee is a lease which transfers substantially all the risks and 
rewards incidental to ownership of an asset to the lessee by the lessor but not 
the legal ownership. 

 Operating leasee is a lease which does not transfers substantially all the risks 
and rewards incidental to ownership. To be precise, it is a lease other than 
“Financial Lease”. 

(i i)   According to para 11 of AS 19 “Leases”, the lessee should recognise the lease 
as an asset and a liability at an amount equal to the fair value of the leased 
asset at the inception of the finance lease. However, if the fair value of the 
leased asset exceeds the present value of the minimum lease payments from 
the standpoint of the lessee, the amount recorded as an asset and a liability 
should be the present value of the minimum lease payments from the 
standpoint of the lessee. In calculating the present value of the minimum lease 
payments the discount rate is the interest rate implicit in the lease. Present 
value of minimum lease payments will be calculated as follows: 

Year Minimum Lease 
Payment 

`

Internal rate of return Present value 
 

`

1 6,25,000 0.8696 5,43,500 
2 6,25,000 0.7561 4,72,563 
3 6,25,000 0.6575 4,10,937 
4 7,50,000* 0.5718 4,28,850

Total 26,25,000  18,55,850

Present value of minimum lease payments ` 18,55,850 is less than fair value 
at the inception of lease i.e. ` 20,00,000, therefore, the lease liability should 
be recognized at ` 18,55,850 as per AS 19. 
*Minimum Lease Payment of 4th year includes guaranteed residual value amounting  
` 1,25,000. 
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20. (a)  No. of Bonus shares issued as on 1.1.2015  
On existing shares (50,00,250 x ½)     25,00,125 shares 
On convertible debentures as per SEBI Guidelines on Bonus Issue 
(1,00,000 debentures x 10 shares x ½)     5,00,000 shares 
Basic Earnings per share for the year 2014-15 =

31.3.2015onasshareequityofnumberaverageWeighted
31.3.2015endedyeartheforprofitNet

`  1,00,25,000
50,00,250 25,00,125 5,00,000

  =  ` 1.25 

Adjusted earnings per share for the year 2013-14  

= `  75,50,000
50,00,250 25,00,125 5,00,000

= ` 0.94

For Diluted EPS 
Interest expense for the current year  = ` 12,00,000 
Tax relating to interest expense (30%)  =` 3,60,000 
Adjusted net profit for the current year  =` 1,00,25,000 + (12,00,000 - 3,60,000) x 

3/12
      =` 1,02,35,000 

No. of equity shares resulting from conversion of debentures  
= 1,00,000 x 10 shares = 10,00,000 

No. of equity shares used to compute diluted earnings per share  
  = 50,00,250 + 25,00,125 + 5,00,000 + (10,00,000 x 3/12) 

  = 50,00,250 + 25,00,125 + 5,00,000 + 2,50,000 
  = 82,50,375 shares 

Diluted earnings per share = 1,02,35,000/82,50,375  = ` 1.24
Note: As per AS 20, bonus shares issued to existing shareholders and to 
convertible debenture holders (on conversion of debentures into shares) are an 
issue without consideration.  Therefore, it is treated as if it had occurred prior to the 
beginning of the year 2013- 14, the earliest period reported. 
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(b) As per Para 41 of AS 26 “Intangible Assets”, expenditure on research should be 
recognized as an expense when it is incurred.  An intangible asset arising from 
development (or from the development phase of an internal project) should be 
recognized if, and only if, an enterprise can demonstrate all of the conditions 
specified in para 44 of the standard.  An intangible asset (arising from development) 
should be derecognised when no future economic benefits are expected from its 
use according to para 87 of the standard.  Therefore, the manager cannot defer the 
expenditure write off to future years.  

 Hence, the expenses amounting ` 20 lakhs incurred on the research and 
development project has to be written off in the current year ending 31st March, 
2015.   
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Applicability of Pronouncements/Legislative Amendments/Circulars etc.  
for November, 2015 – Intermediate (IPC) Examination 

Paper 5:  Advanced Accounting 

Accounting Standards

AS 4  : Contingencies and Events occurring after the Balance Sheet Date 

AS 5  : Net Profit or Loss for the Period, Prior Period Items and Changes in Accounting 
Policies 

AS 11 : The Effects of Changes in Foreign Exchange Rates (Revised 2003) 

AS 12 : Accounting for Government Grants 

AS   16 : Borrowing Costs 

AS   19 : Leases 

AS   20 : Earnings Per Share 

AS   26 : Intangible Assets 

AS   29 : Provisions, Contingent Liabilities and Contingent Assets. 
Note Regarding Applicabil i ty for Paper 1 and Paper 5:
The relevant notified Sections of the Companies Act, 2013 up to 31st March, 2015 and for 
other legislative amendments including relevant Notifications / Circulars / Rules / Guidelines 
issued by Regulating Authority up to 30th April, 2015 will be applicable for November, 2015 
Examination 
Non-Applicability of Ind ASs for November, 2015 Examination: 
The Ministry of Corporate Affairs has notified Roadmap for applicability of Indian Accounting 
Standards (Ind AS) vide Notification No. G.S.R…….(E) dated 16 February, 2015, for 
compliance by the class of companies specified in the said roadmap.  The notification has 
been uploaded on www.mca.gov.in along with the thirty nine (39) Indian Accounting Standards 
(Ind AS).  Students may note that these Ind ASs are not applicable for November, 2015 
Examination.   
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PAPER – 6: AUDITING AND ASSURANCE 

PART – I: ACADEMIC UPDATE  
(Legislative Amendments as per the Companies Act, 2013 and Rules made thereunder) 

1. Reporting under Companies (Auditor’s Report) Order, 2015 [CARO, 2015]: 

Applicabil ity of the Order: 

exempts

 
 

 

 

 

` `
`

 
Matters to be included in the Auditor’s Report:
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Reasons to be Stated for Unfavourable or Qualif ied Answers:

Consequential Amendment to the Format of the Auditor’s Report of a Company:
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“Report on Other Legal and Regulatory Requirements 
As required by the Companies (Auditor’s Report) Order, 2015 (“the Order”), issued by the 
Central Government of India in terms of sub-section (11) of section 143 of the 
Companies Act, 2013, we give in the Annexure a statement on the matters specified in 
paragraphs 3 and 4 of the Order, to the extent applicable. 
As required by Section 143(3) of the Act, we report that:
……………………….. 
………………………..”

2. Companies (Cost Records and Audit) Rules, 2014:

Maintenance of Cost Records:

(A) Regulated Sectors-  
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(B) Non-Regulated Sectors-  

Form CRA-1

Applicabil ity of Cost Audit:

`

`

`

`

Appointment of Cost Auditor:
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Form CRA-2

Casual Vacancy in the Office of a Cost Auditor:

Form CRA-2
Submission of Cost Audit Report: 
(i) To the Board of Directors of the Company-

Form CRA-3

(ii) To the Central Government-

Form CRA-4

Duty to Report on Fraud:

Cost Audit Rules Not to Apply in Certain Cases: 
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PART – II: QUESTIONS AND ANSWERS 
QUESTIONS 

Nature of Auditing 
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Basic Concepts in Auditing 

Preparation for an Audit 
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Internal Control 

Vouching & Verif ication of Assets and Liabilit ies 
`
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` 

` 

The Company Audit  

`
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Special Audits 

SUGGESTED ANSWERS / HINTS 

1. (i) Incorrect:

 (i i) Incorrect: 

 (i i i) Correct:

 (iv) Incorrect:

 (v) Incorrect: 
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(vi) Correct

(vii) Incorrect: 

(vii i) Incorrect:

(ix) Correct:

(x) Correct:

2. (a) Independent Examination of Financial Information:
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(b) Qualit ies of an Auditor: 

sine qua 
non 

London & General 
Bank case 
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3. (a) Professional Judgment:

 (b) Obtaining General Understanding of the Legal and Regulatory Framework: 

4. (a) Relationship of Audit ing with Other Disciplines: 

© The Institute of Chartered Accountants of India



72 INTERMEDIATE (IPC) EXAMINATION: NOVEMBER, 2015 

Auditing and Accounting

 (b) Signif icant Difficult ies Encountered During the Audit: 

Auditing

Accounting

Law

Economics

Behavioural 
Science

Statistics & 
Mathematics

Data 
Processing

Financial 
Management

Production
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5. Concept of “ True and Fair” : 
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6. (a) Reliabil ity of Audit Evidence:
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 (b) Risk of Material Misstatement at the Assertion Level:
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7. (a) Testing of Evidence to Form Audit Opinion: 
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 (b) Going Concern Assumption: 

Financial events or condit ions that may cast doubt about Going Concern 
assumption: 

8. (a) Change in Terms of Engagement: 
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 (b) Accepting Written Representations without obtaining other Audit Evidence: 

9. (a) Matters that the Auditor may consider when obtaining an understanding of the 
nature of the entity: 
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 (b) Disadvantages of the use of an Audit Programme: 

 (c) Surprise Checks:

10. (a) Information to be gathered to prepare an Audit Plan in CIS Environment: 
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 (b) Internal Controls in a CIS Environment: 

General CIS Controls:
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CIS Application Controls:
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11. (a) Audit in a Computerised Information System (CIS) Environment:

 (b) Internal Control points for Collection of Tuit ion Fees: 
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12. (a) Recognit ion of Interest on Deposits: 

 (b) Verif ication of Inventories – Auditor’s Duties:
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13. (a) Verif ication of the Credit Sales:
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 (b) Bank Overdraft 

 (c) Goods lying with Third Party 
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 (d) Goods Sent Out on Sale or Return Basis 

14. Restrictions regarding Political Contribution:

`

` `

` 

15. (a) Indebtness to the Subsidiary Company:

`
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`

`

`

 (b) Removal of Auditor Before Expiry:

16. (a) Ceil ing on Number of Audits: 
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 (b) Services not to be rendered by the Auditor:
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17. (a) Matters to be Specif ied in Auditor’s Report:
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 (b) Types of Companies covered under CARO, 2015:

` `

`

18.  (a) Verif ication of Issue of Sweat Equity Shares: 
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pari passu

 (b) Allotment of Debentures: 
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19. (a) In respect of leasing transaction entered into by the leasing company, the 
following procedures may be adopted by the auditor:
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 (b) Audit of a University: 
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20. Duties of C&AG: 

Compile and submit Accounts of Union and States -

General Provisions Relating to Audit - 
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Audit of Receipts and Expenditure -

Audit of Grants or Loans -

Audit of Receipts of Union or States -

Audit of Accounts of Stores and Inventory -

Audit of Government Companies and Corporations -
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Applicability of Pronouncements/Legislative Amendments/Circulars etc.  
for November, 2015 – Intermediate (IPC) Examination 

Paper 5:  Advanced Accounting 

Accounting Standards

AS 4  : Contingencies and Events occurring after the Balance Sheet Date 

AS 5  : Net Profit or Loss for the Period, Prior Period Items and Changes in Accounting 
Policies 

AS 11 : The Effects of Changes in Foreign Exchange Rates (Revised 2003) 

AS 12 : Accounting for Government Grants 

AS   16 : Borrowing Costs 

AS   19 : Leases 

AS   20 : Earnings Per Share 

AS   26 : Intangible Assets 

AS   29 : Provisions, Contingent Liabilities and Contingent Assets. 
Note Regarding Applicabil i ty for Paper 1 and Paper 5:
The relevant notified Sections of the Companies Act, 2013 up to 31st March, 2015 and for 
other legislative amendments including relevant Notifications / Circulars / Rules / Guidelines 
issued by Regulating Authority up to 30th April, 2015 will be applicable for November, 2015 
Examination 
Non-Applicability of Ind ASs for November, 2015 Examination: 
The Ministry of Corporate Affairs has notified Roadmap for applicability of Indian Accounting 
Standards (Ind AS) vide Notification No. G.S.R…….(E) dated 16 February, 2015, for 
compliance by the class of companies specified in the said roadmap.  The notification has 
been uploaded on www.mca.gov.in along with the thirty nine (39) Indian Accounting Standards 
(Ind AS).  Students may note that these Ind ASs are not applicable for November, 2015 
Examination.   
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SECTION – A: INFORMATION TECHNOLOGY 
QUESTIONS 

1. Define the following terms briefly:
(i) Mobile Software  
(ii) Entity Relationship Diagram  
(iii) Input Devices 
(iv) Network Access Control  
(v) Router 
(vi) Resilience 
(vii) Information 
(viii) Strategic-Level Systems 
(ix) Personal Identification Number 
(x) Validity in Controls 

2. Differentiate between the following: 
(i) Centralized Computing and Decentralized Computing   
(ii) Half Duplex Mode and Full Duplex Mode 
(iii) Circuit Switching and Packet Switching 
(iv) Concurrent Audit and General Audit 
(v) Quality Assurance Management Controls and Security Management Controls 
(vi) Presentation Layer and Session Layer of OSI Model 
(vii) Infrastructure as a Service (IaaS) and Software as a Service (SaaS) 
(viii) Batch Processing and Online Processing 
(ix) Random Access Memory (RAM) and Read Only Memory (ROM) 
(x) Plaintext and Ciphertext 

3. Write short note on the following: 
(i) Business Process Reengineering (BPR) 
(ii) One-to-Many Relationship in E-R Diagram 
(iii) System Designing Phase in SDLC 
(iv) Electronic Funds Transfer (EFT)    
(v) Repeater         
(vi) Leased Application    
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(vii) Quality Assurance Management under Managerial Controls 
(viii) Smart Cards 
(ix) Inference Engine in Expert Systems 
(x) Operating System 

Data Processing Cycle 
4.  Discuss the steps involved in Data Processing Cycle. 
Network Virtualization 
5.  In reference to Network Virtualization, describe major applications of the concepts of the 

virtualization. 
Network Topology 
6.  Discuss Ring and Mesh network. List also their advantages and disadvantages in detail. 
Transaction Processing System (TPS) 
7.  Discuss pre-requisites of ACID Test for any Transaction Processing System. 
Business Process Management Systems (BPMS) 
8.  XYZ Limited is planning to implement Business Process Management System (BPMS). 

The Management asked you to briefly explain some benefits of BPMS to help them to 
take a decision on BPMS. 

Auditing in IT Environment 
9.  Discuss Audit Objectives in a computerized environment. 
Flowcharts 
10. Discuss advantages and limitations of using Flowchart. 
Cloud Computing 
11.  Discuss Cloud Computing architecture. 
Network Protocols 
12.  Discuss Network Protocols in detail.
Network Security Techniques 
13. Discuss different tools/techniques to protect information and systems against 

compromise, intrusion, or misuse. 
Business Intell igence Tools 
14. Discuss various Business Intelligence Tools. 
Supply Chain Management (SCM) 
15.  Discuss the components of Supply Chain Management.  
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SUGGESTED ANSWERS / HINTS 

1. (i)  Mobile Software:  Mobile Software is the actual program that runs on the mobile 
hardware. It deals with the characteristics and requirements of mobile applications 
and is the engine of that mobile device. In other terms, it is the operating system of 
that appliance. It is the essential component that makes the mobile device operates. 

(i i)  Entity Relationship Diagram: An Entity-Relationship (ER) diagram is a data 
modeling technique that creates a graphical representation of the entities, and the 
relationships between entities, within an information system. ER diagrams 
repeatedly bring into play symbols to symbolize dissimilar types of information.  

(i i i) Input Devices: Input devices are devices through which we interact with the 
systems and include devices like Keyboard, Mouse and other pointing devices, 
Scanners & Bar Code, MICR readers, Webcams, Microphone and Stylus/Touch 
Screen. Keyboard helps us with text based input, Mouse helps us in position based 
input, Scanners & Webcams help in image based input and Microphone helps us in 
voice based input. 

(iv) Network Access Control: Network Access Control (NAC) products enforce security 
policy by granting only security policy–compliant devices access to network assets. 
They handle access authentication and authorization functions and can even control 
the data that specific users’ access, based on their ability to recognize users, their 
devices and their network roles. 

(v)  Router: Router is a communications processor that interconnects networks based 
on different rules or protocols, so that a telecommunications message can be routed 
to its destination.

(vi) Resil ience: It refers to the ability of a network to recover from any kind of error like 
connection failure, loss of data etc. 

(vii) Information: It is necessary for businesses to put in place procedures to ensure 
data which is a raw fact have been processed so that they are meaningful, known 
as Information. Some examples of information include aggregating which 
summarizes data by such means as taking an average value of a group of numbers. 
Sorting organizes data so that items are placed in a particular order, for example 
listing orders by delivery date etc.  

(viii) Strategic-Level Systems: These are the systems for strategic managers to track and 
deal with strategic issues, assisting in long-range planning. A principle area is tracking 
changes in the external conditions (market sector, employment levels, share prices, 
etc.) and matching these with the internal conditions of the organization. 

(ix)  Personal Identif ication Number: The Personal Identification Number is similar to a 
password assigned to a user by an institution based on the user characteristics and 
encrypted using a cryptographic algorithm. The application generates a random 
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number stored in its database independent of user identification details or a 
customer selected number.  

(x) Validity in Controls: This ensures that all recorded transactions fairly represent the 
economic events that actually occurred, are lawful in nature, and have been 
executed in accordance with management's general authorization.  

2. (i) Centralized Computing: Centralized computing is computing done at a central 
location, using terminals that are attached to a central computer. The computer 
itself may control all the peripherals directly (if they are physically connected to the 
central computer), or they may be attached via a terminal server. It offers greater 
security over decentralized systems because all of the processing is controlled in a 
central location. In addition, if one terminal breaks down, the user can simply go to 
another terminal and log in again, and all of their files will still be accessible. 
Depending on the system, they may even be able to resume their session from the 
point they were at before, as if nothing had happened. 

 Decentralized Computing: Decentralized computing is the allocation of resources, 
both hardware and software, to each individual workstation, or office location. In 
contrast, centralized computing exists when the majority of functions are carried 
out, or obtained from a remote centralized location. A collection of decentralized 
computers systems are components of a larger computer network, held together by 
local stations of equal importance and capability. These systems are capable of 
running independently of each other. Decentralized systems enable file sharing and 
all computers can share peripherals such as printers and scanners as well as 
modems, allowing all the computers in the network to connect to the internet. 

(i i) Half-Duplex Mode: In Half-Duplex mode, (sometimes called an alternating 
connection or semi-duplex) the data flows in one direction or the other, but not both 
at the same time. This type of connection makes it possible to have bidirectional 
communications using the full capacity of the line. For example: Walkie Talkie. In 
this, the entire capacity of a channel is taken over by whichever of the two devices 
is transmitting at the time.

 Full-Duplex Mode: In Full-Duplex mode, the data flow in both directions 
simultaneously. Each end of the line can thus transmit and receive at the same 
time, which means that the bandwidth is divided in two for each direction of data 
transmission if the same transmission medium is used for both directions of 
transmission. For example: Mobile Phones. In this, signals going in either direction 
share the capacity of the link wither by containing two separate physical links (one 
for sending and the other for receiving) or by dividing the capacity of the channel 
between signals travelling in opposite direction. 

  Terminal A  Terminal B

Terminal A Terminal B 
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(ii i) Circuit Switching: A Circuit Switching network is one that establishes a fixed 
bandwidth circuit (or channel) between nodes and terminals before the users may 
communicate, as if the nodes were physically connected with an electrical circuit. 
The route is dedicated and exclusive, and released only when the communication 
session terminates. Circuit switching is what most of us encounter on our home 
phones. A single circuit is used for the entire duration of the call. Applications which 
use circuit switching go through three phases: Establish a Circuit, Transfer of 
data and Disconnect the Circuit.  

 Packet Switching: It is a sophisticated means of maximizing transmission capacity 
of networks. Packet switching refers to protocols in which messages are broken up 
into small transmission units called packets, before they are sent. Each packet is 
transmitted individually across the net. The packets may even follow different routes 
to the destination. Since there is no fixed path, different packets can follow different 
path and thus they may reach to destination out of order.  

(iv)  Concurrent Audit: In this, Auditors are members of the system development team. 
They assist the team in improving the quality of systems development for the 
specific system they are building and implementing. 

 General Audit: In this, Auditors evaluate systems development controls overall. 
They seek to determine whether they can reduce the extent of substantive testing 
needed to form an audit opinion about management’s assertions relating to the 
financial statements in systems effectiveness and efficiency. 

(v)  Quality Assurance Management Controls: Organizations are increasingly 
producing safety-critical systems and users are becoming more demanding in terms 
of the quality of the software they employ to undertake their work. Organizations are 
undertaking more ambitious information systems projects that require more 
stringent quality requirements and are becoming more concerned about their 
liabilities if they produce and sell defective software. 

 Security Management Controls: Information security administrators are 
responsible for ensuring that information systems assets are secure. Assets are 
secure when the expected losses that will occur over some time are at an 
acceptable level. 

(vi) Presentation Layer or Layer 6 of OSI Model: This layer at times referred as 
Syntax Layer also, is usually a part of an operating system, that converts incoming 
and outgoing data from one presentation format to another (for example, from a text 
stream into a popup window with the newly arrived text). The presentation service 
data units are then encapsulated into Session Protocol Data Units, and moved 
down the stack. It further controls on screen display of data, transforms data to a 
standard application interface. Encryption, data compression can also be 
undertaken at this layer level. 
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 Session Layer or Layer 5 of OSI Model: This layer sets up, coordinates, and 
terminates conversations, exchanges, and dialogs between the applications at each 
end. It deals with session and connection coordination. It provides for full-duplex, 
half-duplex, or simplex operation, and establishes check pointing, adjournment, 
termination, and restart procedures. The OSI model made this layer responsible for 
"graceful close" of sessions also. 

(vii) Infrastructure as a Service (IaaS): Infrastructure as a Service (IaaS) delivers 
computer infrastructure on an outsourced basis to support enterprise operations. 
Typically, IaaS provides hardware, storage, servers and data centre space or 
network components; it may also include software. 

 Software as a Service (SaaS): Software as a Service (SaaS) features a complete 
application offered as a service on-demand. A service provider hosts the application 
at its data centre over the Internet and customer accesses it via a standard Web 
browser. For example - Google Apps. 

(vii i) Batch Processing: It is defined as a processing of large set of data in a specific 
way, automatically, without needing any user intervention. The data is first 
collected, during a work day, for example, and then batch-processed, so all the 
collected data is processed in one go. This could happen at the end of the work 
day, for example, when computing capacities are not needed for other tasks. It is 
possible to perform repetitive tasks on a large number of pieces of data rapidly 
without needing the user to monitor it. Batched jobs can take a long time to process. 
Batch processing is used in producing bills, stock control, producing monthly credit 
card statements, etc. 

 Online Processing: Data is processed immediately while it is entered, the user 
usually only has to wait a short time for a response. (Example: games, word 
processing, booking systems). Interactive or online processing requires a user to 
supply an input. Interactive or online processing enables the user to input data and 
get the results of the processing of that data immediately. 

(ix)  The differences between Random Access Memory (RAM) and Read Only Memory 
(ROM) are given below: 

Random Access Memory (RAM) Read Only Memory (ROM) 
RAM is a volatile memory and when the 
computer is turned off, RAM loses its data. 
When the computer is turned on again, 
operating system and other files are once 
again loaded into RAM usually from the 
hard disk.

Unlike RAM, ROM is non-volatile. 
The contents of ROM remain even 
after the computer is switched off.

This is Read Write memory wherein 
information can be read as well as modified. 

Originally, the ROM used to be 
read-only; however, the new 
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versions of ROM allow limited 
rewriting making it possible to 
upgrade firmware such as the 
BIOS by using installation 
software. 

(x)  Plaintext - It is the message that is to be encrypted. It is transformed by a function 
that is parameterized by a key. 

 CipherText - It is the output of the encryption process that is transmitted often by a 
messenger or radio.  

3.  (i)  Business Process Reengineering (BPR): Business Process Reengineering 
(BPR) is based on the understanding that the products and services a company 
offers to the market are provided through business processes, and a radical 
redesign of these processes is the road to success. BPR is defined as the 
“fundamental rethinking and radical redesign of processes to achieve dramatic 
improvement, in critical, contemporary measures of performance such as cost, 
quality, service and speed”. BPR is the main method by which organizations 
become more efficient and modern. It transforms an organization in ways that 
directly affect its performance.   

(i i)  One-to-Many Relationship (1:N) in E-R Diagram – A One-to-Many relationship is 
shown on the diagram by a line connecting the two entities with a “crow's foot” 
symbol denoting the 'many' end of the relationship. 

 Example: A student may borrow some books from the library. A book in the library 
may be borrowed by at most a student.  

 
 

A class is formed by a group of atleast one student. Each student is allocated to one 
and only one class. 

 
 

(i i i)  System Designing Phase in SDLC: This phase in SDLC examines that ‘How will 
the Information System do what it must do to obtain the solution to the problem’? 
This phase specifies the technical aspects of a proposed system in terms of 
Hardware platform; Software; Outputs; Inputs; User interface; Modular design; Test 
plan; Conversion plan and Documentation. 

(iv)  Electronic Funds Transfer (EFT): Electronic Funds Transfer (EFT) represents the 
way the business can receive direct deposit of all payments from the financial 
institution to the company bank account. Once the user “Signs Up”, money comes 

Student BookBorrows

Class StudentFormed by
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to him directly and sooner than ever before. Some examples of EFT systems in 
operation are Automated Teller Machines (ATMs), Point-of-Sale (PoS) 
Transactions, Preauthorized and Telephone Transfers.  

(v)  Repeater: Repeater is a communication processor that boosts or amplifies the 
signal before passing it to the next section of cable in a network. 

(vi)  Leased Application: It is a new method for getting applications that are being used 
today, i.e. leased applications, where user pays fixed rent for using the application 
for agreed terms. Many specialized vendors provide users with option to get their 
job done by paying monthly rent; this is referred to as outsourcing.  

(vii)  Quality Assurance Management under Managerial Controls: It is responsible for 
ensuring information systems development; implementation, operation, and 
maintenance conform to established quality standards. 

(vii i) Smart Cards: Smart cards are any pocket sized card with embedded integrated 
circuits. Smart cards can provide identification authentications, data storage and 
application processing. Smart cards may serve as a credit or ATM cards, Fuel 
cards, mobile phone SIMs, access-control cards, public transport or public phone 
payment cards etc. on the card. Contact cards, Contactless cards and Combi/Hybrid 
Cards are the three types of Smart Cards.

(ix)  Inference Engine in Expert Systems: This program contains the logic and 
reasoning mechanisms that simulate the expert logic process and deliver advice. It 
uses data obtained from both the knowledge base and the user to make 
associations and inferences, form its conclusions, and recommend a course of 
action. 

(x)  Operating System: An Operating System (OS) is a set of computer programs that 
manages computer hardware resources and acts as an interface with computer 
applications programs. The operating system is a vital component of the system 
software in a computer system. Application programs usually require an operating 
system to function that provides a convenient environment to users for executing 
their programs. Computer hardware with operating system can thus be viewed as 
an extended machine which is more powerful and easy to use. Some prominent 
Operating systems used nowadays are Windows 7, Windows 8, Linux, UNIX, etc. 

4.  The Data Processing Cycle consists of following basic steps with alerts, controls and 
feedback at each step: 

Data input - Involves the activities like capturing the data, implementing control 
procedures, recording in journals, posting to ledgers and preparation of reports. 
Data storage - Involves organizing the data in master file or reference file of an 
automated system for easy and efficient access.  
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Data processing - Involves addition, deletion and updating of the data in the 
transaction file, master file or reference file. 
Information output - Involves generation of documents and managerial reports in 
printable or electronic form for addressing queries, to control operational activities 
and help the management in decision making. 

5.  Major applications of the concepts of the Virtualization are given as follows: 
Server Consolidation: Virtual machines are used to consolidate many physical 
servers into fewer servers, which in turn host virtual machines. Each physical server 
is reflected as a virtual machine "guest" residing on a virtual machine host system. 
This is also known as “Physical-to-Virtual” or 'P2V' transformation. 
Disaster Recovery: Virtual machines can be used as "hot standby" environments 
for physical production servers. This changes the classical "backup-and-restore" 
philosophy, by providing backup images that can "boot" into live virtual machines, 
capable of taking over workload for a production server experiencing an outage. 
Testing and Training: Hardware virtualization can give root access to a virtual 
machine. This can be very useful such as in kernel development and operating 
system courses. 
Portable Applications: Portable applications are needed when running an 
application from a removable drive, without installing it on the system's main disk 
drive. Virtualization can be used to encapsulate the application with a redirection 
layer that stores temporary files, windows registry entries and other state 
information in the application's installation directory and not within the system's 
permanent file system. 
Portable Workspaces: Recent technologies have used virtualization to create 
portable workspaces on devices like iPods and USB memory sticks.  

6. Ring Network: A Ring Network is much like a bus network, except the length of wire, 
cable, or optical fibre connects to form a loop. The characteristics of a ring network are: 

Local computer processors are tied together sequentially in a ring with each device 
being connected to two other devices. 
A ring network has a decentralized approach. 
When one computer needs data from another computer, the data is passed along 
the ring. 
Considered more reliable and less costly than star networks because if one 
computer fails, the other computers in the ring can continue to process their own 
work and communicate with each other. 
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Advantages of Ring Network include the following: 
Ring networks do not require a central computer to control activity nor does it need 
a file server. 
Each computer connected to the network can communicate directly with the other 
computers in the network by using the common communication channel, and each 
computer does its own independent applications processing. 
The ring network is not as susceptible to breakdowns as the star network, because 
when one computer in the ring fails, it does not necessarily affect the processing or 
communications capabilities of the other computers in the ring. 
Ring networks offer high performance for a small number of workstations or for 
larger networks where each station has a similar workload. 
Ring networks can span longer distances than other types of networks. 
Ring networks are easily extendable. 

Disadvantages of Ring Network are as follows: 
Relatively expensive and difficult to install. 
Failure of one computer on the network can affect the whole network. 
It is difficult to troubleshoot a ring network. 
Adding or removing computers can disrupt the network. 

Mesh Network: In this structure, there is random connection of nodes using 
communication links. A mesh network may be fully connected or connected with only 
partial links. In fully interconnected topology, each node is connected by a dedicated 
point to point link to every node. The reliability is very high as there are always alternate 
paths available if direct link between two nodes is down or dysfunctional. Fully connected 
networks are not very common because of the high cost. Only military installations, which 
need high degree of redundancy, may have such networks, that too with a small number 
of nodes. 
Advantages of Mesh Network are as under: 

Yields the greatest amount of redundancy in the event that if one of the nodes fails, 
the network traffic can be redirected to another node. 
Network problems are easier to diagnose. 

Disadvantage of Mesh Network is its high cost of installation and maintenance (more 
cable is required than any other configuration). 

7. In order to qualify as a Transaction Processing System (TPS), transactions made by the 
system must pass the ACID Test. The ACID Test refers to the following four prerequisites 
as discussed below:  
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Atomicity: This means that a transaction is either completed in full or not at all. 
TPS systems ensure that transactions take place in their entirety. For example, if 
funds are transferred from one account to another, this only counts as a bona-fide 
transaction if both the withdrawal and deposit take place. If one account is debited 
and the other is not credited, it does not qualify as a transaction. 
Consistency: TPS systems exist within a set of operating rules (or integrity 
constraints). If an integrity constraint states that all transactions in a database must 
have a positive value, any transaction with a negative value would be refused.  
Isolation: Transactions must appear to take place in seclusion. For example, when 
a fund transfer is made between two accounts the debiting of one and the crediting 
of another must appear to take place simultaneously. The funds cannot be credited 
to an account before they are debited from another.  
Durability: Once transactions are completed they cannot be undone. To ensure 
that this is the case even if the TPS suffers failure, a log will be created to document 
all completed transactions. 

These four conditions ensure that TPS systems carry out their transactions in a 
methodical, standardized and reliable manner. So Transactions must be ongoing. 

8. Some benefits of Business Process Management Systems (BPMS) are as follows: 
(a) Automating repetit ive business processes: Processes such as report creation 

and distribution or the monitoring of or reporting on company’s Key Performance 
Indicators (KPI) reduces the manual operational costs and helps employees to 
concentrate on activities that are important to the success of business.  

(b) BPMS works by ' loosely coupling' with a company's existing applications:  
This enables it to monitor, extract, format and distribute information to systems and 
people; in line with business events or rules. 

(c) Operational Savings: BPM focuses on optimization of processes. The processes 
that are repetitive are optimized and lead to reduced expenses which translate to 
immediate cost savings. By automating a task, ROI of BPM that requires six hours 
of manual intervention, one can expect to cut that time to half. Thus, three hours 
multiplied by the number of times the process is completed in a cycle will yield 
significant cost saving. 

(d) Reduction in the administration involved in Compliance and ISO Activit ies: Be 
it a quality assurance initiative such as the ISO standards, a financial audit law, or 
an IT systems best practice implementation, companies worldwide are seeing the 
need to manage compliance as part of their everyday business activities.  The BPM 
is ideally suited to help support companies in their quest for process improvement 
and compliance/governance certification. It gives full control over process and 
document change, clarity of inherent risks, and ease with which process knowledge 
is communicated across the company. 
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(e) Freeing up of employee time: While the euphuism “time is money” is often 
over used, it is very relevant to this topic, because in business, for each additional 
hour it takes to complete a manual business process, there is a hard cost 
associated with employee time as well as soft costs associated with losing business 
or lowered productivity. Another area where time comes into play is in opportunity 
costs. 

9. The general objectives of auditing in a computerized environment are as follows: 
Existence: Verify that the assets, liabilities, ownership, and/or activities are real; 
Authorization: Verify that events have occurred in accordance with management`s 
intent; 
Valuation: Verify that the accounting values fairly present items worth; 
Cutoff: Verify that the transaction is re-coded in the proper accounting period;  
Compliance: Verify that the processing is in compliance with governmental laws 
and regulations, generally accepted accounting procedures, and the organization`s 
policies and procedures; 
Operational: Verify that the program, area, or activity is performed economically, 
efficient, and effectively; 
Assisting management in finding ways to implementing internal control 
recommendations; 
Participating in specifying and designing computer control and other features for 
systems to be installed; 
Determining whether efficient use is made of the organization’s Computer 
resources; and 
Determining whether Computer system used accomplishes the business objectives 
and goals. 

10.   Advantages of using Flowchart are as follows: 
(i)  Quicker grasp of relationships – Before any application can be solved, it must be 

understood, the relationship between various elements of the application must be 
identified. The programmer can chart a lengthy procedure more easily with the help 
of a flowchart than by describing it by means of written notes. 

(i i)  Effective Analysis – The flowchart becomes a blue print of a system that can be 
broken down into detailed parts for study. Problems may be identified and new 
approaches may be suggested by flowcharts. 

(i i i)  Communication – Flowcharts aid in communicating the facts of a business problem 
to those whose skills are needed for arriving at the solution. 
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(iv)  Documentation – Flowcharts serve as a good documentation which aid greatly in 
future program conversions. In the event of staff changes, they serve as training 
function by helping new employees in understanding the existing programs. 

(v)  Efficient coding – Flowcharts act as a guide during the system analysis and 
program preparation phase. Instructions coded in a programming language may be 
checked against the flowchart to ensure that no steps are omitted. 

(vi)  Orderly check out of problem – Flowcharts serve as an important tool during 
program debugging. They help in detecting, locating and removing mistakes. 

(vii)  Efficient program maintenance – The maintenance of operating programs is 
facilitated by flowcharts. The charts help the programmer to concentrate attention 
on that part of the information flow which is to be modified. 

Limitations of using Flowchart are as follows: 
(i)  Complex logic – Flowchart becomes complex and clumsy where the problem logic 

is complex. The essentials of what is done can easily be lost in the technical details 
of how it is done. 

(i i)  Modification – If modifications to a flowchart are required, it may require complete 
re-drawing. 

(i i i)  Reproduction – Reproduction of flowcharts is often a problem because the 
symbols used in flowcharts cannot be typed. 

(iv)  Link between condit ions and actions – Sometimes it becomes difficult to 
establish the linkage between various conditions and the actions to be taken there 
upon for a particular condition. 

(v)  Standardization – Program flowcharts, although easy to follow, are not such a 
natural way of expressing procedures as writing in English, nor are they easily 
translated into Programming language. 

11. Cloud Computing Architecture: Cloud Computing Architecture refers to the 
components and subcomponents that typically consist of a front end platform (fat client, 
thin client, mobile device), back end platforms (servers, storage), a cloud based delivery, 
and a network (Internet, Intranet, Intercloud). Combined, these components make up 
cloud computing architecture. Cloud architecture typically involves multiple cloud 
components communicating with each other over a tight or loose coupling of cloud 
resources, services, middleware, and software components. 
A cloud computing architecture consists of two parts - Front End and a Back End that 
connect to each other through a network, usually the Internet. The front end is the side 
the computer user, or client, sees. The back end is the “cloud” section of the system. 

Front End: The Front End of the cloud computing system comprises of the client’s 
devices (or it may be a computer network) and some applications are needed for 
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accessing the cloud computing system. All the cloud computing systems do not give 
the same interface to users. For example-Web services like electronic mail 
programs use some existing web browsers such as Firefox, Microsoft’s internet 
explorer or Apple’s Safari. Other types of systems have some unique applications 
which provide network access to its clients.  
Back End: Back End refers to some physical peripherals. In cloud computing, the 
back end is cloud itself which may encompass various computer machines, data 
storage systems and servers. Groups of these clouds make a whole cloud 
computing system. Theoretically, a cloud computing system can include practically 
any type of web application program such as video games to applications for data 
processing, software development and entertainment residing on its 
individual dedicated server for services. There are some set of rules, generally 
called as Protocols which are followed by this server and it uses a special type of 
software known termed as Middleware that allow computers that are connected on 
networks to communicate with each other. If any cloud computing service provider 
has many customers, then there’s likely to be very high demand for huge storage 
space. Many companies that are service providers need hundreds of storage 
devices. 

12. Network Protocols:  Protocols are software that performs a variety of actions necessary 
for data transmission between computers. Stated more precisely, protocols are a set of 
rules for inter-computer communication that have been agreed upon and implemented by 
many vendors, users and standards bodies to ensure that the information being 
exchanged between the two parties is received and interpreted correctly. Ideally, a 
protocol standard allows heterogeneous computers to talk to each other. 
At the most basic level, protocols define the physical aspects of communication, such as 
how the system components will be interfaced and at what voltage levels will be 
transmitted.  
At higher levels, protocols define the way that data will be transferred, such as the 
establishment and termination of “sessions” between computers and the synchronization 
of those transmissions. At still higher levels, protocols can standardize the way data itself 
is encoded and compressed for transmission.  
A protocol defines the following three aspects of digital communication. 
(a) Syntax: The format of data being exchanged, character set used, type of error 

correction used, type of encoding scheme (e.g., signal levels) being used. 
(b) Semantics: Type and order of messages used to ensure reliable and error free 

information transfer. 
(c) Timing: Defines data rate selection and correct timing for various events during 

data transfer. 
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At the sending computer, protocols – 
(i) Break data down into packets; 
(ii) Add destination address to the packet; and 
(iii) Prepares data for transmission through Network Interface Card (NIC) 
At the receiving computer, protocols – 
(i) Take data packets off the cable; 
(ii) Bring packets into computer through Network Interface Card (NIC; 
(iii) Strip the packets off any transmitting information; 
(iv) Copy data from packet to a buffer for reassembly; and 
(v) Pass the reassembled data to the application. 

13. Different tools/technologies are now available to protect information and systems against 
compromise, intrusion, or misuse. Some of them are as follows:  
(i) Intrusion Detection System (IDS): An Intrusion Detection System is a device 

or software application that monitors network or system activities for malicious 
activities or policy violations and produces reports to a Management Station. The 
goal of intrusion detection is to monitor network assets to detect anomalous 
behaviour and misuse. Network Intrusion Detection System (NID) and Host-based 
Intrusion Detection (HID) Systems are two primary Intrusion Detection Systems.  

(i i) Firewall: Firewall is a device that forms a barrier between a secure and an open 
environment when the latter environment is usually considered hostile, for example, 
the Internet. It acts as a system or combination of systems that enforces a boundary 
between more than one networks. Access controls are common form of controls 
encountered in the boundary subsystem by restricting the use of system resources 
to authorized users, limiting the actions authorized users can take with these 
resources and ensuring that the users obtain only authentic system resources. 

(i i i) Network Access Control: Network Access Control (NAC) products enforce security 
policy by granting only security policy–compliant devices access to network assets. 
They handle access authentication and authorization functions and can even control 
the data that specific users’ access, based on their ability to recognize users, their 
devices and their network roles. 

(iv) Anti – Malware: Anti-malware network tools help administrators identify block and 
remove malware. They enable the IT department to tailor its anti-malware policies to 
identify known and unknown malware sources. Malware is always on the lookout for 
network vulnerabilities - in security defences, operating systems, browsers, 
applications and popular targets such as Adobe Flash, Acrobat and Reader - that 
they can exploit to fully access a victim’s network. Best practices call for a 
multipronged defence that might also include IP blacklisting, data loss prevention 
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(DLP) tools, anti-virus and anti-spyware software, web browsing policies, egress 
filtering, and outbound-traffic proxies. 

(v) Site Blocking: It is a software-based approach that prohibits access to certain Web 
sites that are deemed inappropriate by management. For example, sites that 
contain explicit objectionable material can be blocked to prevent employee’s from 
accessing these sites from company Internet servers. In addition to blocking sites, 
companies can also log activities and determine the amount of time spent on the 
Internet and identify the  sites visited.  

14. Business Intelligence tools are a type of software that is designed to retrieve, analyze 
and report data. BI is basically just getting important business information to decision 
makers when they need it – in a way that they can actually use it. Business Intelligence 
tools are standalone tools or suites of tools that are targeted to a specific industry that 
implement a particular BI technique.  
Business Intelligence tools are software programs and features that are used to complete 
detailed data analysis. There are different types of business intelligence tools which a 
business may need in order to achieve business objectives. Some of the key Business 
Intelligence tools are given as follows: 

Simple Reporting and Querying: This involves using the data warehouse to get 
response to the query: “Tell me what happened.” The objective of a BI 
implementation is to turn operational data into meaningful knowledge. This requires 
that BI must be connected with the enterprise data and all the necessary data is 
available in one place, in one common format. Data warehousing (DW) provides the 
perfect architecture to combine all the data dispersed throughout the enterprise in 
different applications in a variety of formats, on a range of hardware, which could be 
anywhere to be cleaned up, summarized, converted and integrated into one 
common format and available centrally for further processing. There are reporting 
tools used to arrange information into a readable format and distribute it to the 
people who need it. 
Business Analysis:  This involves using the data to get response to the query: 
“Tell me what happened and why.” Business analysis refers to presenting 
visualizing data in a multidimensional manner. Query and report data is presented 
in row after row of two�dimensional data. Typically, the first dimension is the 
headings for the data columns and the second dimension is the actual data listed 
below those column headings. Business analysis allows the user to plot data in row 
and column coordinates to further understand the intersecting points. ETL (Extract, 
Transform, Load) tools bring in data from outside sources, transform it to meet 
business specified operational needs, and then load the results into the company 
database. Metadata tools gather and analyze metadata, helping to increase data 
quality. 
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Dashboards: This involves using the information gathered from the data warehouse 
and making it available to users as snapshots of many different things with the 
objective of getting response to the query: “Tell me a lot of things, but without too 
much effort”. Dashboards are flexible tools that can be bent into as many different 
shapes as per user requirements. It includes a collection of graphs, reports, and 
KPIs that can help monitor such business activities as progress on a specific 
initiative. 
Scorecards: This involves providing a visual representation of the enterprise 
strategy by taking critical metrics and mapping them to strategic goals throughout 
the enterprise. Scorecards offer a rich, visual gauge to display the performance of 
specific initiatives, business units, or the enterprise as a whole and the individual 
goals in the context of larger enterprise strategy. Scorecards distil information into a 
small number of metrics and targets and provide users with an at�a�glance 
perspective of information. A scorecard has a graphical list of specific, attainable 
strategic milestones, combined with metrics that serve as benchmarks. Specific 
measures on how well the company has actually performed specified activities are 
linked in the scorecard with graphical display highlighting the status of each goal. 
Data Mining or Statistical Analysis: This involves using statistical, artificial 
intelligence, and related techniques to mine through large volumes of data and 
providing knowledge without users even having to ask specific questions. The 
objective is to provide interesting and useful information to users by design even 
without their querying. Data Mining involves data analysis for discovering useful 
patterns that are “hidden” in large volume of diverse data. For Example: Market 
segmentation - identify common characteristics of customers who buy same 
products. OLAP (Online Analytical Processing) is a multi-dimensional analytical tool 
typically used in data mining, that gathers and process vast amounts of information 
into useful packets. 

15.  The main elements of a Supply Chain Management (SCM) are as follows: 
(i) Procurement/Purchasing - begins with the purchasing of parts, components, or 

services. Procurement must ensure that the right items are delivered in the exact 
quantities at the correct location on the specified time schedule at minimal cost. 
This means that procurement must concern itself with the determination of who 
should supply the parts, the components, or the services. It must address the 
question of assurance that these suppliers will deliver as promised. The key issue in 
procurement is how one goes about selecting and maintaining a supplier, which can 
be approached from two directions. The first concentrates on how a firm might 
evaluate a potential supplier whereas the second is how a firm evaluates those 
businesses that are already suppliers to an operation.
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(i i) Operations - The second major element of supply chain management system is 
operations. Having received raw materials, parts, components, assemblies, or 
services from suppliers, the firm must transform them and produce the products or 
the services that meet the needs of its consumers. It must conduct this 
transformation in an efficient and effective manner for the benefit of the supply 
chain management system.  

(i i i) Distr ibution - The third element of the supply chain management system is 
distribution. Distribution involves several activities—transportation (logistics), 
warehousing, and customer relationship management (CRM). The first and most 
obvious is logistics—the transportation of goods across the entire supply chain.  

(iv) Integration - The last element of supply chain management is the need for 
integration. It is critical that all participants in the service chain recognize the 
entirety of the service chain. The impact of the failure to adopt a system-wide 
perspective—that is, examining the totality of the chain can significantly increase 
costs and destroy value.  
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SECTION – B: STRATEGIC MANAGEMENT 

Correct/Incorrect with reasoning 
1. State with reasons which of the following statements are correct/incorrect: 

(a) Portfolio analysis involves comparison of various functional areas of business. 
(b) Strategic management is a bundle of tricks and magic. 
(c) A strategic group consists of rival firms with similar competitive approaches and 

positions in the market.
(d) SWOT analysis presents a comparative account. 
(e) Focus strategies are most effective with consumers having similar preferences. 
(f) TQM is a people-focused management system that aims employees’ satisfaction. 
(g) IT can bring efficiency and effectiveness in the functioning of businesses. 
(h) A corporate culture is always identical in organizations located in same 

geographical area. 
(i) Demarketing is used to eliminate the competitors’ market share. 
(j)  Balance scorecard is a combination of Human resource and marketing functions.

Differences between the two concepts 

2.  Distinguish between the following: 
(a) Economic environment and Socio-cultural environment. 
(b)  Synchro Marketing and Demarketing. 
(c)  Divestment strategy and Liquidation strategy. 
(d)  Logistic Management and Supply Chain Management. 

Short notes 
3.  Write short notes on the following: 

(a)  Implementation steps in BPR. 
(b) Reasons necessary for globalization of companies. 
(c)  Objectives of SWOT analysis. 
(d) Retrenchment Strategy. 

Brief answers 
4.  Briefly answer the following questions: 

(a) Briefly explain Experience Curve. 
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(b) Define Competitive Advantage. 
(c) Explain Strategic Vision. 
(d) Define Network structure. 

Descriptive Answers 
Chapter 1-Business Environment 
5. "A business enterprise is a sub-system of the larger environmental system." Discuss the 

relationship between the organization and its business environment. 
6. Explain briefly different strategic approaches for Globalization by a company. 
Chapter 2-Business Policy and Strategic Management 
7. Distinguish between the Three Levels of Strategy Formulation. 
8.  What is Strategic Decision Making? Briefly explain the major dimensions of strategic 

decisions. 
Chapter 3-Strategic Analysis 
9. ABC Ltd., the pharmaceutical company wants to grow its business. Draw Ansoff’s Product 

Market Growth Matrix to advise them of the available options. 
10. How would you argue that strategic analysis is the starting point for strategic thinking? 
Chapter 4-Strategic Planning 
11. What do you understand by ‘Strategy’? Explain the four generic strategies as discussed by 

Glueck and Jauch.  
12.  Many organizations in order to achieve quick growth use strategies such as mergers and 

acquisitions. Explain. Discuss various types of mergers. 
Chapter 5-Formulation of Functional Strategy 
13.  What are the issues that need to be addressed to formulate an effective logistics strategy in a 

business firm? 
14. How Research and Development (R&D) personnel can play an integral part in strategy 

implementation? 
Chapter 6-Strategic Implementation and Control 
15. “Successful strategy formulation does not guarantee successful strategy implementation.” 

Discuss. 
16. How is ‘Strategic Business Unit’ beneficial for improving the competitive advantage of a firm?  
Chapter 7-Reaching Strategic Edge 
17 Explain the role of strategic management in Medical Organizations.  
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18. How would you explain the managerial significance of Six Sigma in today’s business world? 

SUGGESTED ANSWERS  

1.  (a) Incorrect:: Portfolio analysis can be defined as a set of techniques that help 
strategists in taking strategic decisions with regard to individual products or 
businesses in a firm’s portfolio. It is primarily used for competitive analysis and 
corporate strategic planning in a multiproduct and multi-business firm. 

(b) Incorrect:: No, Strategic management is not a bundle of tricks and magic. It is much 
more serious affair. It involves systematic and analytical thinking and action. 
Although, the success or failure of a strategy is dependent on several extraneous 
factors, it can not be stated that a strategy is a trick or magic. Formation of strategy 
requires careful planning and requires strong conceptual, analytical, and visionary 
skills. 

(c) Correct:: A strategic group consists of those rival firms that have similar competitive 
approaches and positions in the market. Organisations in the same strategic group 
can resemble one another in any of the several ways: they may have comparable 
product-line breadth, sell in the same price/quality range, emphasize the same 
distribution channels, use essentially the same product attributes to appeal to 
similar types of buyers, depend on identical technological approaches, or offer 
buyers similar services and technical assistance. 

(d) Correct:  SWOT analysis presents the information about both external and internal 
environment in a structured form where it is possible to compare external 
opportunities and threats with internal strengths and weaknesses. This helps in 
matching external and internal environments so that a strategist can come out with 
suitable strategy by developing certain patterns of relationship. The patterns are 
combinations say, high opportunities and high strengths, high opportunities and low 
strengths, high threats and high strengths, high threats and low strengths. 

(e) Incorrect:  Focus strategies are most effective when consumers have distinctive 
preferences or requirements and when rival firms are not attempting to specialize in 
the same target segment. An organization using a focus strategy may concentrate 
on a particular group of customers, geographic markets, or on particular product-
line segments in order to serve a well-defined but narrow market better than 
competitors who serve a broader market. 

(f) Incorrect:  TQM or Total Quality Management is a people-focused management 
system that aims at continual increase in customer satisfaction at continually lower 
real cost. There is a sustained management commitment to quality and everyone in 
the organisation and the supply chain is responsible for preventing rather than 
detecting defects.  
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(g) Correct:: Information technology is playing a significant role in changing the 
business processes. A reengineered business process, characterized by IT-assisted 
speed, accuracy, adaptability and integration of data and service points, is focused 
on meeting the customer needs and expectations quickly and adequately, thereby 
enhancing his/her satisfaction level. With the help of tools of information technology 
organizations can modify their processes to make them automatic, simpler, time 
saving. Thus IT can bring efficiency and effectiveness in the functioning of 
business. 

(h) Incorrect:  Every company has its own organisational culture. Each has its own 
business philosophy and principles, its own ways of approaching to the problems 
and making decisions, its own work climate, work ethics, etc. Therefore, corporate 
culture need not be identical in all organisations in a geographical area. However, 
every organisation over a period of time inherits and percolates down its own 
specific work ethos and approaches. 

(i) Incorrect:  Demarketing is a marketing strategy to reduce demand temporarily or 
permanently-the aim is not to destroy demand, but only to reduce or shift it. This 
happens when the demand is too much to handle. For example, buses are 
overloaded in the morning and evening, roads are busy for most of times, zoological 
parks are over-crowded on Saturdays, Sundays and holidays. Here demarketing 
can be applied to regulate demand. 

(j) Incorrectt: Balance scorecard is a combination of strategic and financial objectives. 
It measure company performance, requires setting both financial and strategic 
objectives and tracking their achievement. Unless a company is in deep financial 
difficulty, such that its very survival is threatened, company managers are well 
advised to put more emphasis on achieving strategic objectives than on achieving 
financial objectives whenever a trade-off has to be made. 

2.  (a)) The economic environment refers to the nature and direction of the economy in 
which a company competes or may compete. It includes general economic situation 
in the region and the nation, conditions in resource markets which influence the 
supply of inputs to the enterprise, their costs, quality, availability and reliability of 
supplies. 

  Economic environment determines the strength and size of the market. The 
purchasing power in an economy depends on current income, prices, savings, 
circulation of money, debt and credit availability. Income distribution pattern 
determines the marketing possibilities. The important point to consider is to find out 
the effect of economic prospect and inflation on the operations of the firms. 
Strategists must scan, monitor, forecast, and assess a number of key economic 
factors for both domestic and key international markets. 
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 Socio-Cultural Environment influences almost all enterprises in a similar manner. It 
primarily affects strategic management process within the organization in the areas 
of mission & objectives setting and decisions related to products & markets.  

 Socio-cultural environment is a complex combination of factors such as social 
traditions, values and beliefs, changing lifestyle patterns &materialism, level and 
standards of literacy and education, awareness & consciousness of rights and work 
ethics of members of society, the ethical standards and state of society, the extent 
of social stratification, conflict and cohesiveness, social concerns such as 
corruption, environmental pollution etc. 

(b) Synchro-marketing:  When the demand for any product is irregular due to season, 
some parts of the day, or on hour basis, causing idle capacity or overworked 
capacities, synchro-marketing can be used to find ways to alter the same pattern of 
demand through flexible pricing, promotion, and other incentives. For example, 
products such as movie tickets can be sold at lower price over week days to 
generate demand. 

 Demarketing:  Marketing strategies to reduce demand temporarily or permanently-
the aim is not to destroy demand, but only to reduce or shift it. This happens when 
there is overfull demand. For example, buses are overloaded in the morning and 
evening, roads are busy for most of times, zoological parks are over-crowded on 
Saturdays, Sundays and holidays. Here demarketing can be applied to regulate 
demand. 

(c) Divestment Strategy:: Divestment strategy involves the sale or liquidation of a 
portion of business, or a major division, profit centre or SBU. Divestment is usually 
a part of rehabilitation or restructuring plan and is adopted when a turnaround has 
been attempted but has proved to be unsuccessful. The option of a turnaround may 
even be ignored if it is obvious that divestment is the only answer. 
Liquidation Strategy:: Liquidation as a form of retrenchment strategy is considered 
as the most extreme and unattractive. It involves closing down a firm and selling its 
assets. It is considered as the last resort because it leads to serious consequences 
such as loss of employment for workers and other employees, termination of 
opportunities a firm could pursue, and the stigma of failure. 

(d)) Supply chain management is an extension of logistic management. However, there 
are differences between the two. Logistical activities typically include management 
of inbound and outbound goods, transportation, warehousing, handling of material, 
fulfillment of orders, inventory management and supply/demand planning. Although 
these activities also form part of supply chain management, the latter is much 
broader. Logistic management can be termed as one of its part that is related to 
planning, implementing, and controlling the movement and storage of goods, 
services and related information between the point of origin and the point of 
consumption.  
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 Supply chain management is an integrating function of all the major business 
activities and business processes within and across organisations.  Supply Chain 
Management is a systems view of the linkages in the chain consisting of different 
channel partners – suppliers, intermediaries, third-party service providers and 
customers. Different elements in the chain work together in a collaborative and 
coordinated manner. Often it is used as a tool of business transformation and 
involves delivering the right product at the right time to the right place and at the 
right price.  

3. (a)) Companies begin business process re-engineering by creating a plan of action 
based on the gap between the current and proposed processes, technologies and 
structures. Steps usually followed to implement BPR are as follows: 
(i) Determining objectives and framework:: Objectives are the desired end 

results of the redesign process which the management and organization 
attempts to achieve. It helps in building a comprehensive foundation for the 
reengineering process. 

(i i) Identify customers and determine their needs: The designers have to 
understand customers – their profile, their steps in acquiring, using and 
disposing a product. The purpose is to redesign business process that clearly 
provides added value to the customer. 

(i i i) Study the existing process:: The existing processes will provide an important 
base for the redesigners.  

(iv) Formulate a redesign process plan:: Formulation of redesign plan is the real 
crux of the reengineering efforts. Customer focused redesign concepts are 
identified and formulated. 

(v) Implement the redesign:: Implementation of the redesigned process and 
application of other knowledge gained from the previous steps is key to 
achieve dramatic improvements.  

(b)) Reasons necessary for Globalization of companies are as follows:  
The rapid shrinking of time and distance across the globe resulting in faster 
communication, speedier transportation, growing financial flows and rapid 
technological changes. 
Domestic market is not large enough to absorb whatever is produced. Some 
European companies have gone global for this reason.  
Justification of foreign investment keeping in view the size of foreign market. 
Securing a reliable and cheaper source of raw-materials. Some companies, by 
contrast, have often ventured overseas to protect old markets or to seek new 
ones. For example cheap labour in India lure foreign investors. 

© The Institute of Chartered Accountants of India



 PAPER – 7: INFORMATION TECHNOLOGY AND STRATEGIC MANAGEMENT 123 

Reducing the high transportation costs by setting up overseas plants that 
ultimately leads to reducing the higher ratio of the unit cost to the selling price 
per unit.  

(c)  In SWOT analysis ‘strengths’ and ‘opportunities’ are positive considerations and 
‘weaknesses’ and ‘threats’ are negative considerations. The basic objectives of 
conducting SWOT analysis are: 

To exploit the strengths of the company to achieve its objectives. 
To identify the shortcomings in the company’s present skills and resources and 
to take necessary corrective steps so that the overall interest of the 
organisation is protected. 
To focus on profit making opportunities in the business environment and for 
identifying threats. 
To highlight areas within the company, which are strong and might be 
exploited more and weaknesses, where some defensive planning might be 
required to prevent the company from downfall. 

(d)) Retrenchment strategy implies substantial reduction in the scope of organization’s 
activity. A business organization can redefine its business by divesting a major 
product line or market. While retrenching, organizations might set objectives below 
the past level of objectives. It is essentially a defensive strategy adopted as a 
reaction to operating problems stemming from either internal mismanagement, 
unanticipated actions by competitors or hostile and unfavourable changes in the 
business environmental conditions. With a retrenchment strategy the endeavour of 
management is to raise the level of enterprise achievements focusing on 
improvements in the functional performance and cutting down operations with 
negative cash flows. 

4. (a))  Experience curve is similar to learning curve which explains the efficiency gained by 
workers through repetitive productive work. Experience curve is based on the 
commonly observed phenomenon that unit costs decline as a firm accumulates 
experience in terms of a cumulative volume of production. The implication is that 
larger firms in an industry would tend to have lower unit costs as compared to those 
of smaller organizations, thereby gaining a competitive cost advantage. Experience 
curve results from a variety of factors such as learning effects, economies of scale, 
product redesign and technological improvements in production. 

 The concept of experience curve is relevant for a number of areas in strategic 
management. For instance, experience curve is considered a barrier for new firms 
contemplating entry in an industry. It is also used to build market share and 
discourage competition. 

(b)) Competitive advantage is the position of a firm to maintain and sustain a favorable 
market position when compared to the competitors. Competitive advantage is ability 
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to offer buyers something different and thereby providing more value for the money. 
It is the result of a successful strategy. This position gets translated into higher 
market share, higher profits when compared to those that are obtained by 
competitors operating in the same industry. Competitive advantage may also be in 
the form of low cost relationship in the industry or being unique in the industry along 
dimensions that are widely valued by the customers in particular and the society at 
large.  

(c)) A strategic vision delineates organisation’s aspirations for the business, providing a 
panoramic view of the position where the organisation is going. A strategic vision 
points an organization in a particular direction, charts a strategic path for it to follow 
in preparing for the future, and moulds organizational identity. A Strategic vision is a 
road map of a company’s future – providing specifics about technology and 
customer focus, the geographic and product markets to be pursued, the capabilities 
it plans to develop, and the kind of company that management is trying to create. 

(d)  Network structure is a newer and somewhat more radical organizational design. The 
network structure could be termed as ‘non-structure’ as it virtually eliminates in-
house business functions and outsource many of them. A corporation organized in 
this manner is a virtual organization because it is composed of a series of project 
groups or collaborations linked by constantly changing non-hierarchical, cobweb-
like networks. 

5.. A business does not function in isolation, rather, it acts as a sub-system of its environment 
consisting of society, economy, laws, competitors and so on. Business draws certain inputs 
from environment in the form of resources and information and transforms them into outputs. 
The relationship between the organization and its environment may be discussed in terms of 
interactions between them that can be broadly outlined as below: 
Exchange of information: The organization scans the external environmental variables, their 
behaviour and changes, generates important information and uses it for its planning, 
decision-making and control purposes.  

 On the other hand, the organization itself transmits information to several external agencies 
either voluntarily, inadvertently or legally. 
Exchange of resources: The organization receives inputs — finance, materials, manpower, 
equipment etc., from the external environment. It sustains itself by employing the above 
inputs for involving or producing output of products and services.  

 The organization is also dependent on the external environment for disposal of its output of 
products and services to a wide range of clientele. 
Exchange of influence and power: The external environment holds considerable power over 
the organization both by virtue of its being more inclusive as also by virtue of its command 
over resources, information and other inputs. The external environment is also in a position to 
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impose its will over the organization. Governmental control, competitors, customers, 
suppliers, investors etc., exercise considerable power and influence over the organization.  

 In turn, the organization itself is sometimes in a position to wield power and influence over the 
external environment by virtue of its command over resources and information. 

6.   International economic dynamics accompanied by geographical changes have changed the 
paradigm of global business. A firm / company who wishes to go global will be guided by the 
following three types of strategies:  
(i) Multi-domestic strategy:: A multi-domestic strategy focuses on competition within 

each country in which the firm operates. This Strategy is adopted when a company 
tries to achieve a high level of local responsiveness by matching their products and 
services offerings to national conditions prevailing in the countries they operate in. 
The organization attempts to extensively customize their products and services 
according to the local conditions of different countries. 

(i i) Global strategy:: A global strategy assumes more standardization of products 
across country boundaries. Under this strategy, the company tries to focus on a low 
cost structure by leveraging their expertise in providing certain products and 
services and concentrating the production of these standard products and services 
at a few favourable locations around the world. Competitive strategy is centralized 
and controlled by the home office.  

(i i i) Transnational strategy:: Many large multinational firms, particularly those with 
many diverse products, may use a multi-domestic strategy with some product lines 
and a global strategy with others. A transnational strategy seeks to combine 
aspects of both multi-domestic and global strategies. Thus there is emphasizes on 
both local responsiveness and global integration and coordination. Although the 
transnational strategy is difficult to implement, environmental trends are causing 
multinational firms to consider the needs for both global efficiencies and local 
responsiveness.  

 When a firm adopts one or more of the above strategies, the firm would have to take 
decisions on the manner in which it would commence international operations. The 
decision as to how to enter a foreign market can have a significant impact on the 
results. Expansion into foreign markets can be achieved through following options: 

Exporting. 
Licensing/ Franchising. 
Joint Venture. 
Foreign Direct Investment. 

7..  A typical large organization is a multidivisional organisation that competes in several different 
businesses. It has separate self-contained divisions to manage each of these. There are 
three levels of strategy in management of business - corporate, business, and functional. 
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 The corporate level of management consists of the chief executive officer and other top level 
executives. These individuals occupy the apex of decision making within the organization. 
The role of corporate-level managers is to oversee the development of strategies for the 
whole organization. This role includes defining the mission and goals of the organization, 
determining what businesses it should be in, allocating resources among the different 
businesses and so on rests at the Corporate Level.  

 The development of strategies for individual business areas is the responsibility of the general 
managers in these different businesses or business level managers. A business unit is a self-
contained division with its own functions - for example, finance, production, and marketing. 
The strategic role of business-level manager, head of the division, is to translate the general 
statements of direction and intent that come from the corporate level into concrete strategies 
for individual businesses.  

 Functional-level managers are responsible for the specific business functions or operations 
such as human resources, purchasing, product development, customer service, and so on. 
Thus, a functional manager's sphere of responsibility is generally confined to one 
organizational activity, whereas general managers oversee the operation of a whole company 
or division.  

8.. Decision making is a managerial process and a function of choosing a particular course of 
action out of several alternative courses for the purpose of accomplishment of the 
organizational goals. Strategic decisions are different in nature than all other decisions which 
are taken at various levels of the organization during their day-to-day working. The major 
dimensions of strategic decisions are given below: 

Strategic issues require top-management decisions: Strategic issues involve thinking in 
totality of the organizations and also there is lot of risk involved.  
Strategic issues involve the allocation of large amounts of company resources: It may 
require huge financial investment to venture into a new area of business or the 
organization may require huge manpower with new set of skills in them. 
Strategic issues are likely to have a significant impact on the long term prosperity of the 
firm: Generally the results of strategic implementation are seen on a long term basis and 
not immediately. 
Strategic issues are future oriented: Strategic thinking involves predicting the future 
environmental conditions and how to orient for the changed conditions. 
Strategic issues usually have major multifunctional or multi-business consequences: As 
they involve organization in totality they affect different sections of the organization with 
varying degree. 
Strategic issues necessitate consideration of factors in the firm’s external environment: 
Strategic focus in organization involves orienting its internal environment to the changes 
of external environment. 
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9.. The Ansoff’s product market growth matrix (proposed by Igor Ansoff) is an useful tool that 
helps businesses decide their product and market growth strategy. With the use of this matrix, 
a business can get a fair idea about how its growth depends upon its markets in new or 
existing products in both new and existing markets.  
The Ansoff’s product market growth matrix is as follows: 

Ansoff’s Product Market Growth Matrix 
Based on the matrix, ABC Ltd. may segregate its different products. Being in 
pharmaceuticals, development of new products is result of extensive research and involves 
huge costs. There are also social dimensions that may influence the decision of the company. 
It can adopt penetration, product development, market development or diversification 
simultaneously for its different products. 
Market penetration refers to a growth strategy where the business focuses on selling existing 
products into existing markets. It is achieved by making more sales to present customers 
without changing products in any major way. Market development refers to a growth strategy 
where the business seeks to sell its existing products into new markets. It is a strategy for 
company growth by identifying and developing new markets for the existing products of the 
company. Product development is refers to a growth strategy where business aims to 
introduce new products into existing markets. It is a strategy for company growth by offering 
modified or new products to current markets. Diversification refers to a growth strategy where 
a business markets new products in new markets. It is a strategy by starting up or acquiring 
businesses outside the company’s current products and markets.  
As market conditions change overtime, the company may shift product-market growth 
strategies. For example, when its present market is fully saturated a company may have no 
choice other than to pursue new market. 
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10..  The external analysis process focuses on scanning of environment in which all organizations 
work as sub-systems. The scanning of external environment leads to the identification of 
opportunities and threats & opening the organizations to the external world. While the internal 
analysis leads to the study of strengths and weakness which will decide to what extent each 
company is going to capitalize the opportunities and threats. 

 Moreover, strategic thinking judges about the nature of strategy and proceeds to flow directly 
from analysis of a company’s external environment and internal situation. The analytical 
sequence starts from strategic appraisal of the company’s external and internal situations and 
to evaluate alternatives for implanting the strategy choices. Accurate diagnosis of the 
company’s situation is necessary. Managerial preparation for deciding a sound long term 
direction is done by setting appraisal alternate and creating a winning strategy. 

 Understanding of the strategic aspects of a company’s external and internal environment, the 
changes are greatly influenced that how managers will lay out a strategic game plan. Thus, it 
is a major prospect for building competitive advantage and that is likely to boost company 
performance. 

11.   Businesses have to respond to a dynamic and often hostile environment in pursuit of their 
mission. Strategies provide an integral framework for management and negotiate their way 
through a complex and turbulent external environment. Strategy seeks to relate the goals of 
the organisation to the means of achieving them.  
A company’s strategy is the game plan management is using to stake out market position and 
conduct its operations. A company’s strategy consists of the combination of competitive 
moves and business approaches that managers employ to please customers, compete 
successfully and achieve organisational objectives.  
Strategy may be defined as a long range blueprint of an organisation's desired image, 
direction and destination what it wants to be, what it wants to do and where it wants to go. 
Strategy is meant to fill in the need of organisations for a sense of dynamic direction, focus 
and cohesiveness.  
The Generic Strategiess: According to Glueck and Jauch there are four generic ways in 
which strategic alternatives can be considered. These are stability, expansion, retrenchment 
and combinations. 
(i) Stabil ity Strategies:: One of the important goals of a business enterprise is stability 

to safeguard its existing interests and strengths, to pursue well established and 
tested objectives, to continue in the chosen business path, to maintain operational 
efficiency on a sustained basis, to consolidate the commanding position already 
reached, and to optimise returns on the resources committed in the business.  

(ii) Expansion Strategy:: Expansion strategy is implemented by redefining the 
business by adding the scope of business substantially increasing the efforts of the 
current business. Expansion is a promising and popular strategy that tends to be 
equated with dynamism, vigor, promise and success. It is often characterised by 
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significant reformulation of goals and directions, major initiatives and moves 
involving investments, exploration and onslaught into new products, new technology 
and new markets, innovative decisions and action programmes and so on. 
Expansion includes diversifying, acquiring and merging businesses.  

(iii) Retrenchment Strategy:: A business organisation can redefine its business by 
divesting a major product line or market. Retrenchment or retreat becomes 
necessary or expedient for coping with particularly hostile and adverse situations in 
the environment and when any other strategy is likely to be suicidal. In business 
parlance also, retreat is not always a bad proposition to save the enterprise's vital 
interests, to minimise the adverse environmental effects, or even to regroup and 
recoup the resources before a fresh assault and ascent on the growth ladder is 
launched. 

(iv) Combination Strategies:: Stability, expansion or retrenchment strategies are not 
mutually exclusive. It is possible to adopt a mix to suit particular situations. An 
enterprise may seek stability in some areas of activity, expansion in some and 
retrenchment in the others. Retrenchment of ailing products followed by stability and 
capped by expansion in some situations may be thought of. For some organisations, a 
strategy by diversification and/or acquisition may call for a retrenchment in some 
obsolete product lines, production facilities and plant locations. 

12.  Many organizations in order to achieve quick growth, expand or diversify use strategies 
such as mergers and acquisitions. This also helps in deploying surplus funds.  
Merger and Acquisit ion Strategy 

 Merger and acquisition in simple words are defined as a process of combining two or 
more organizations together. There is a thin line of difference between the two terms but 
the impact of combination is completely different in both the cases. 

 Some organizations prefer to grow through mergers. Merger is considered to be a 
process when two or more organizations join together to expand their business 
operations. In such a case the deal gets finalized on friendly terms. Owners of pre-
merged entities have right over the profits of new entity. In a merger two organizations 
combine to increase their strength and financial gains.  

 When one organization takes over the other organization and controls all its business 
operations, it is known as acquisition. In the process of acquisition, one financially strong 
organization overpowers the weaker one. Acquisitions often happen during recession in 
economy or during declining profit margins. In this process, one that is financially 
stronger and bigger establishes it power. The combined operations then run under the 
name of the powerful entity. A deal in case of an acquisition is often done in an unfriendly 
manner, it is more or less a forced association where the powerful organization takes 
over a weaker entity.  
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Types of Mergers 
1. Horizontal merger:: Horizontal mergers are combinations of firms engaged in the 

same industry. It is a merger with a direct competitor. The principal objective behind 
this type of mergers is to achieve economies of scale in the production process by 
shedding duplication of installations and functions, widening the line of products, 
decrease in working capital and fixed assets investment, getting rid of competition 
and so on. For example, formation of Brook Bond Lipton India Ltd. through the 
merger of Lipton India and Brook Bond. 

2.  Vertical merger:  It is a merger of two organizations that are operating in the same 
industry but at different stages of production or distribution system. This often leads 
to increased synergies with the merging firms. If an organization takes over its 
supplier/producers of raw material, then it leads to backward integration. On the 
other hand, forward integration happens when an organization decides to take over 
its buyer organizations or distribution channels. Vertical merger results in operating 
and financial economies. Vertical mergers help to create an advantageous position 
by restricting the supply of inputs or by providing them at a higher cost to other 
players. 

3. Co-generic merger:  In co-generic merger two or more merging organizations are 
associated in some way or the other related to the production processes, business 
markets, or basic required technologies. Such merger include the extension of the 
product line or acquiring components that are required in the daily operations. It 
offers great opportunities to businesses to diversify around a common set of 
resources and strategic requirements. For example, an organization manufacturing 
refrigerators can diversify by merging with another organization having business in 
kitchen appliances. 

4. Conglomerate merger:  Conglomerate mergers are the combination of 
organizations that are unrelated to each other. There are no linkages with respect to 
customer groups, customer functions and technologies being used. There are no 
important common factors between the organizations in production, marketing, 
research and development and technology. In practice, however, there is some 
degree of overlap in one or more of these factors.  

13.   Management of logistics is a process which integrates the flow of supplies into and out of an 
organization to achieve a level of service which ensures that the right materials are available 
at the right place, at the right time, of the right quality, and at the right cost.  
To have an effective logistics strategy, the organization has to ponder the following issues 
and formulate strategy comfortable with their issues: 

The sources of raw materials and components needed for production of goods. 
To ascertain the number of manufacturing units, their location etc to decide about 
transport facility. 
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Products being produced at different manufacturing location. 
To decide about the different modes of transportation facilities. 
What is the nature of distribution facilities? 
What is the nature of materials handling equipment possessed? Is it ideal?  
What is the method for deploying inventory in the logistics network?  
Should the business organization own the transport vehicles? 

14.. Research and development (R&D) personnel can play an integral part in strategy 
implementation. These individuals are generally charged with developing new products and 
improving old products in a way that will allow effective strategy implementation. R&D 
employees and managers perform tasks that include transferring complex technology, 
adjusting processes to local raw materials, adapting processes to local markets, and altering 
products to particular tastes and specifications. 
Technological improvements that affect consumer and industrial products and services 
shorten product life cycles. Companies in virtually, every industry are relying on the 
development of new products and services to fuel profitability and growth. Surveys suggest 
that the most successful organizations use an R&D strategy that ties external opportunities to 
internal strengths and is linked with objectives. Well formulated R&D policies match market 
opportunities with internal capabilities. R&D policies can enhance strategy implementation 
efforts to: 

Emphasize product or process improvements. 
Stress basic or applied research. 
Be leaders or followers in R&D. 
Develop robotics or manual-type processes. 
Spend a high, average, or low amount of money on R&D. 
Perform R&D within the firm or to contract R&D to outside firms.  
Use university researchers or private sector researchers. 

15.   Successful strategy formulation does not guarantee successful strategy implementation. It is 
always more difficult to do something (strategy implementation) than to say you are going to 
do it (strategy formulation)! Although inextricably linked, strategy implementation is 
fundamentally different from strategy formulation. 
Strategy implementation is different from strategy formulation. Strategy formulation is an 
intellectual process but strategy implementation is an operational process. Strategy 
formulation is positioning forces before the action which focuses on effectiveness whereas 
strategy implementation is managing forces during the action which focuses on efficiency. 
Strategy formulation requires good intuitive and analytical skills and coordination among a 
few individuals but strategy implementation requires special motivation and leadership skills 
and combination among many individuals. So the strategy implementation is more difficult 
than strategy formulation.  
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16.. A Strategic Business Unit (SBU) is a grouping of related businesses that can be taken up for 
strategic planning distinct from the rest of the businesses. Products/businesses within an 
SBU receive same strategic planning treatment and priorities. Products/businesses that are 
related from the standpoint of “function” are assembled together as a distinct SBU. 
Strategic Business Unit (SBU) is beneficial for improving the competitive advantage of a firm 
in the following ways: 

A scientific method of grouping the businesses of a multi-business corporation 
which helps the firm in strategic planning. 
An improvement over the territorial grouping of businesses and strategic planning 
based on territorial units. 
An SBU is a grouping of related businesses that can be taken up for strategic 
planning distinct from the rest of the businesses. Products/businesses within an 
SBU receive same strategic planning treatment and priorities. 
Products/businesses that are related from the standpoint of "function" are 
assembled together as a distinct SBU. 
Unrelated products/businesses in any group are separated. If they could be 
assigned to any other SBU applying the criterion of functional relation, they are 
assigned accordingly; otherwise they are made into separate SBUs. 
Grouping the businesses on SBU lines helps the firm in strategic planning by 
removing the vagueness and confusion generally seen in grouping businesses. 
Each SBU is a separate business from the strategic planning standpoint. In the 
basic factors, viz., mission, objectives, competition and strategy-one SBU will be 
distinct from another. 
Each SBU will have its own distinct set of competitors and its own distinct strategy. 
Each SBU will have a CEO, so it can be managed separately for profit performance 
and will have better controlling. 

17.  Medical organisations such as hospitals are often not-for-profit organisations. At the same 
time there is existence of medical organisations that have commercial interest. Whether they 
run for profit or are in charitable nature, the tools and techniques of strategic management are 
equally important. The role of strategic management can be expressed as follows. 
Medical organisations need to follow the process of strategic management. They work under 
complex and turbulent environment with changes in macroeconomic factors covering 
economic, social, legal, technological factors. They need to set their mission, look for 
strategic alternatives and implement their chosen strategies, etc. In fact, all the steps in 
the process of strategic management are relevant for them. Medical organisations may also 
have survival and growth strategies. Hospitals may diversify to form chain of pathological labs 
or open pharmaceutical shops. Strategic management can also help in providing better 
services to the patients. 
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Like any organisation, medical organisations also compete with each other. Strategic 
management helps to function and succeed within the competitive pressures. 
Thus the role of strategic management in medical organizations is similar to any other 
organisation. In fact, Hospitals are creating new strategies today with advances in the 
diagnosis and treatment methods. Hospitals are bringing services to the patient as much as 
bringing the patient to the hospital. Pathological laboratories have started collecting door-to-
door samples. Providing day-treatment facilities, electronic monitoring at home, user-friendly 
ambulatory services, and laboratory testing. 

18.. Six sigma means maintenance of the desired quality in processes and end products. It takes 
a systematic and integrated effort towards improving quality and reducing cost besides 
meeting and improving the organizational goals related to quality, cost, scheduling, 
manpower, new products and so on. It works continuously towards revising the current 
standards and establishing higher ones.  
Conclusively, six sigma starts with a dream or vision to have the goal of near perfect products 
and services and superb customer satisfaction. Managers and leaders should accept the 
challenge to keep the organization adaptable with the changing environment.  
Six sigma is often related to Motorola, the company that has invented it. It pointed out that 
modern technology was so complex that old ideas about acceptable quality levels are no 
longer acceptable. The success of Motorola effectively changed the focus of quality 
worldwide. Many corporate giants like Xerox, Boeing, GE, Kodak etc followed Motorola's 
lead. In India also Tata’s, WIPRO and Bharti’s and others are effectively reaping the benefits 
of six-sigma. 
With the help of improved technology and other tools, Management is able to enhance the 
quality of their products and therefore meets the human unending demand for better quality 
products and services. Six Sigma helps the management to not only restrict itself in satisfying 
the existing desires of customers or to put boundary on quality by limiting it to current 
information and perspective of customers rather, it also helps to be futuristic i.e., in addition to 
meeting customer’s present expectations it should also be able to improve them. 
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